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A solution is prepared by adding 2 g of a substance Ato 18
g of water. The mass percentage of the solute is

1. 20%

2. 30%
3. 10%
4. 15%
Options:
S5olrzl 1
So31722 2
5531723 2
5531724 4
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Options:

o53172101
S531722 2
5531723 2
5531724 4
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What are the radial nodes and angular nodes of 4d orbital,
respectively?

1. 1,2
2. 3.7
3. 4,2
4. 4,1
Options:
5521725 1
S5olyee. 2
So31727. 2
531728 4
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1 1,2
2. 3,2
3. 4,2
4. 4,1

Options:

5531725 1
SS21726 2
EL21727. 2
So321728 4
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What is the value of angular momentum for ‘f’ orbital?

1. 0
h
2. —m
V2
V3h
3_ N i
T
\V3h
4, —
2m
Options:
ooolyza 1
S5ol7z2100 2
55317211, 2
55317212 4
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21T
Options:
ooolrza 1
S5ol17210 2
55o17211. 32
S5o17212 4
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Which of the following does NOT follow the rules of writing
formula?

1. HE
2. NaCl
3. H20
4. NHa

Options:

531721301
5317214 2
55317215 2
55317216, 4
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HF
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NHa4

RN S

Options:

553172131
55217214 2
5217215 =2
oo5317216. 4
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Which one of the following statements is correct for the
molecules of CH4, NH3 and H207

1. The H-C-H bond angle in CH4, the H-N-H bond angle
inNH3 and H-O-H bond angle in H20 are all less than 90°

2. The H-O-H bond angle in H20 is more than the H-C-
H bond angle in CHa4

3. The H-O-H bond angle in H20 is less than the H-N-H
bond angle in NH3

4. The H-C-H bond angle in CHa is less than the H-N-H
bond angle NH3

Options:

553172171
5217218 2
5317219 2
55317220, 4
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o1 el A H CHa, NH3 FUT H20 31031t & folT shleT T Hel 572

1. CHa & H-C-H 31Tse% 19T, NHz # H-N-H 31Td=¢T ShIoT g1
H20 & H-O-H 3a=y hor g3t 90° A FH &

2. H20 & H-O-H 3T+ 10T, CHs & H-C-H 31Tae¢ ST &
g3T gl

3. H20 & H-O-H 3% &HIoT, NH3 & H-N-H 31Tae¢T shioT &
oergl

4. CHa#H H-C-H 31Ts8T F19T, NH3 H H-N-H e 10T §
ST gl

Options:
Sool7z17 1

SE217218. 2
SS317213. 5
SS31722004
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Which one of the following molecules has ionic bond,
covalent bond, coordinate bond and hydrogen bond all
present together?

1. NaCl
2. CHa
3. H2S504

4. CuSO04-5H20

Options:
553172211
Sool7222 2




SSZ17223. 3
SS317224 4

Question Number : 6 Question Id : 5531726 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correst Marks: 4 Wrong Marks: 1
[T 3BT A A 98 HieT AT AT & S0H I e,
Aeadioleh HTawY, 3THgHAISTh et dT gI8alele ATaey

1.  NaCl

2. CHs

3. H2S04
4. CuS04-5H20

Options:

553172211
55317222 2
55317223 3
55317224 4
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The compressibility factor (Z) for ideal gas is

| PO

2. 0

Options:

553172251
55317226, 2
S5317227. 2
oo317228. 4
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Options:

553172251
EL217226. 2
oo317227. 3
5317228, 4
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Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Assuming the water vapour to be a perfect gas, find the
internal energy change when 1 mole of water at 100 °C and
1 bar pressure is converted to ice at 0 °C.

(Given the enthalpy of fusion of ice = 6-:0 kdmol~', Heat
capacity of water = 4-2 J/g °C)

1. -=13-56 J mol™
2. -13-56 kJ mol*
3. -1-356 kJ mol*
4. -1-356 J mol™’

Options:

553172291
55317230 2
5217221, 2
oo317252. 4
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7 gRafdd = ear Srar gl

(fe=ar araT &, I & GarelaT TediedT 6:0 kdmol~! TAT STeT &hr
FSAT {TRAT 42 J/g °C)

1. -=13-56 J mol™
2. -13-56 kJ mol™
3. -1-356 kJ mol~*
4. —1-356 J mol™’

Options:

53172291
55317230 2
55317231, 2
55317232 4

Question Number : 9 Question Id : 5531729 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
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Correct Marks: 4 Wrong Marks: 1

Which of the following pairs is incorrect?

A B
1. Snowfall Exothermic process
2. Expansion of an ideal gas AU =0

at constant temperature

3. State of equilibrium AGrp =0

4. Entropy change of a reaction Third law of
at 0 K is equal to zero thermodynamics




Options:

553172331
5217234 2
5217235 2
So317256. 4
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Options:

553172331
55317234 2
5217235 2
EL217236. 4
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_ HyI*
Kg = [H,0]*

corresponding reaction?
1.  3Fe(s) + 4H20(g) = Fe304(s) + 4H2(qg)
2. H20(L) = Hz(g) + 72 O2(g)
3. 4H20(L) = 4H2(g) + 202(g)
4. 4H2(g) + 202(g) = 4H20(L)

is written for a particular reaction. What is the

Options:

553172371
55317238 2
5217239 2
5217240, 4
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v faflise s & fw k, = T for o &1 sedh
FaTe i3t = §7
1. 3Fe(s) + 4H20(g) = Fes0a4(s) + 4H2(g)
H20(L) = Hz(g) + 2 O2(g)
4H20(L) = 4H2(g) + 202(g)
4H2(g) + 202(g) = 4H20(L)

B W N

Options:

553172371
55317238 2
5217239 2
5217240, 4

Question Number : 11 Question Id : 55317211 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




Find the percentage of ionization of Pyridinium ion, when
Pyridine is present in 0-1 M aqueous brine solution
(Kb=1:6x107%)

1. 0:01%
2. 0:04%
3. 4%
4 10%
Options:
553172411
55317242 2

SS317243. 3
55317244 4
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9 0-1 M ol oauT 7 TS 3ufeya &, ar idEiaas 3
ST T FTarddr [Aeialv (Ko=1:6x10-8)

1. 0-01%
2. 0-04%
3. 4%

4. 10%

Options:

553172411
55317242 2
5317243 2
5217244 4

Question Number : 12 Question Id : 55317212 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




10 mL of strong acid of pH=2 is mixed with 10 mL of another
strong acid of pH=3. What is the pH of the resulting mixture?

1. 2-24
2. 2-26
3. 30
4. 28

Options:

53172451
5317246, 2
55317247, 3
55317248 4
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pH=2 & 9&cT 31FcT & 10 ml I pH=3 & AT Jael 37Fcl & 10
ml & THTIT I1AT| Felat arel THAOT &7 pH AT glam?

1. 224
2. 226
3. 30
4. 28

Options:

53172451
o5317246. 2
55317247, 3
55317248 4
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In which of the following compounds, an element exhibits
two oxidation states in the same compound?

1. NH20H
2. NH4NOs
3. N2Ha4

4. NsH

Options:

553172491
55317250, 2
55317251, 2
5217252 4
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1. NH20H
NH4NO3

N2H4
N3H

-

Options:

553172491
S5217250. 2
5217251, 2
oo317252. 4
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H202 acts as an oxidant as well as reductant. Which one of
the following cannot be done by H2027

1.  Mn?"to Mn%*
2. MnO, to Mn?*
3. 0O2t00s3

4 PbS to PbSO4

Options:

553172531
55317254 2
5217255 2
5217256 4

Question Number : 14 Question Id : 55317214 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
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Correct Marks: 4 WrongMarks: 1

H20. Ts 39ATde A1 8! A1 I9Ae o &9 H &HIH Hidl 6,
aUTfT e H & Fled H202 3 SaRT sTgl [hT ST Hhdl?

1. MnZ*& I Mn**H
2. MnO; & Mn2*#H
3. O2&H03H

4. PbS &I PbSOsH

Options:

S5ol172531
co317254. 2
5317255 2
55317256, 4
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Which one of the following represents a correct order of
decrease in hydration enthalpy of alkali metals?

1. Li*>Na*>K*">Rb*>Cs"*
2. Na'>K*'>Rb*>Cs*>Li"
3. Cs">Rb">K">Na">Li"
4. K*'>Rb*>Cs*">Na*">Li*

Options:

553172571
55317258 2
55317259 2
5217260, 4

Question Number : 15 Question Id : 55317215 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
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Correct Marks: 4 Wrong Marks: 1
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Li*> Na*> K* > Rb* > Cs*

Na*® > K*> Rb*> Cs* > Li*
Cs">Rb*>K*">Na">Li"

K*>Rb">Cs*> Na">Li"

0N -

Options:

53172571
5317258 2
55317259 3
55317260, 4
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Which of the following factors measures high reducing
power of lithium?

1.  Sublimation enthalpy
2 lonisation enthalpy

3. Hydration enthalpy
4

Electron gain enthalpy

Options:

553172611
55317262 2
55317263 2
55317264 4

Question Number : 16 Question Id : 55317216 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
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T 7 A PIT-9T RS OIIATH & 3T 399 ATad T
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1. 3CUdrdd Tededr

2. 3 Tededr

3. SIedSTe Uededr

4.  golaglsd I ooy (Selerere 31T Tede)

Options:

co5317261. 1
5317262 2
55317263, 2
55317264, 4
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Which of the following statements is correct for
Buckminsterfullerene?

1. It contains 20-six membered rings and 12-five
membered rings

2. It contains 12-six membered rings and Z20-five
membered rings

3. It contains 18-six membered rings and 12-five
membered rings

4. It contains 12-six membered rings and 12-five
membered rings

Options:

553172651
55317266, 2
55317267, 2
S5317268. 4
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SR (AEDI N & [T foie=T H & 41 Fel g2

1. SOH 20-9¢ & g dAuT 12-99 &g gold
Blcil &

2. TEH 12-9¢ GSENT TIT g7 20-997 FSENT IoId
Bl &

3. 3STH 18-Y¢ TS Ioid dUT 12-99 &I ol
Blcl &

4. 3HH 12-9¢ AT aod dUT 12-99 &g gold
Bl &

Options:

553172651
55317266, 2
55317267, 2
5217268 4
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Which of the following alkyl substituted silicon derivative is
used to control chain length of silicon polymer?

1.  CHasSiCls
2. (CHs)2SiCl2
3. (CHs3)sSiCl
4. (CHs3)4Si

Options:
553172691
55317270 2

SS317271. 5




SES17272 4
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{1 7 @ Tore uicshel et faferret sgcde= =t faferehe
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1.  CHsSIiCls

2. (CHs)2SiCl2
3. (CHs)sSiCl
4. (CH3)4Si

Options:
Soolyzesa 1

SE217E70 2
SS317271. 5
SS31727E 4

Question Number : 19 Question Id : 55317219 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
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Which of the following is a temporary effect under the
influence of an attacking reagent?

1. Inductive effect
2. Electromeric effect
3. Mesomeric effect

4. Resonance

Options:
oool7E73 1

SS317E74. 2
SE317EV5 3
SS317276E. 4

Question Number : 19 Question Id : 55317219 Question Type: MCQ Opt|on Shuffllng No Display Question Number : Yes Single
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3TSHAUT e dTol THFHS & IHT H @ aren AT 7 I
3TEURIT 9RO AT 572

1.  ORIOI 93719
2. SolaclFRI 9ATT
3. HIARI 9HE

4. Jeolollc

|

Options:

531727321
EE217274. 2
So317275. 2
So5317276. 4
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Correct Marks: 4 WrongMarks: 1

What is the IUPAC name of iso-pentane?
1. 2,3-Dimethyl butane
2. 2-Methyl butane
3. 2,2-Dimethyl propane
4. 3,3-Dimethyl propane

Options:

553172771
EE217278. 2
So317279. 2
55317280, 4
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Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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HTSAUeC HT 38, J, 91, T Al AH FAT 5?2
1. 2,3-33ARd sgea
2. 2-ATsge

3. 2,2-3EARA 99
4. 3,3-3ATAAT 99T

Options:

53172771
EE217278. 2
So317279. 2
o5317280. 4
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Correct Marks: 4 WrongMarks: 1

Which of the following is unhazardous reagent compared
to sodium fusion extract for the test of organic compound?

1 Mg-Na2COs3 extract
2. Na2COs extract
3. NaHCOsextract
4. Zn-Na2COs extract

Options:

5532172811
EL217282. 2
oo317283. 2
o5317284. 4
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efeieh i & YAETOT & ToIT HITSTH T+l UFagHC
(FNTSTH FITeTeT TRET) sl Jolell H foleet H & ple-ar
HTHFRF ANT@H BT E?

1.  Mg-Na2COs TsFacaHe
2.  Na2COs; TFHcHT

3. NaHCOs:tsacae

4. Zn-Na:COs TFacacT

Options:

5532172811
EL217282. 2
oo317283. 2
55317284 4

Question Number : 22 Question Id : 55317222 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
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Correct Marks: 4 WrongMarks: 1

Classical smog occurs in cold and humid climate. It is a
mixture of

1. Smoke, fog and sulphur dioxide
2. Unsaturated hydrocarbon and nitrogen oxide
3. Hydrochloric acid and chlorofluorocarbon

4. Methane and carbon dioxide

Options:

553172851
5217286, 2
EE217287. 2
So317288. 4
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e

1. Y#H, U dUT HodhIss ATHATSs &l

2. 3THJT BISSIhTesT dUT ATSCIolel HTHATSS
3. EEsIFalRe UlAs aAuT FARIFARIRST &l
4. AYT JUT FTeT SISIHTFISS &I

Options:
EE317285. 1

SED17286. 2
SS317287. 3
SS317288. 4
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Non-stoichiometric compound Cu1.8S is prepared by the
incorporation of Cu?* ion in the lattice of Cuprous sulphide.
What is the percentage of Cu?* ions in the total content of a
compound?

1. 88-88
2. 11-1
3. 898
4. 998

Options:

553172891
S5317290. 2
oo317291. 2
5317292 4

Question Number : 23 Question Id : 55317223 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
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IEFHHIOT AT THATH Cu1.6S FI IR FA o (o1 Fg5H
HHISS o STl H Cu2* 3T Sl FHTARNA Hd g | Alfaren
el ATAT H Cu?* Y gfARrdar Farg?

1 88-88
2 11-11
3. 898
4. 99-8
Options:

553172891
55317290, 2

55317231 3
SS317239z2. 4

Question Number : 24 Question Id : 55317224 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
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Correct Marks: 4 WrongMarks: 1

What is the Van't Hoff factor (i) for dilute solution of
Al2(S0O4)37?

1. 1+a/4
2. 1l+a

3. 1—-3a
4. 1+44a

Options:

553172931
55317294 2
55317295 3
S5317296. 4
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Al2(SO4)3 & de] Taerde & ToIT alee g% [T FAT &2

: 1 +a/d
1+ a
1—3a

il

1+ 4a

Options:

553172931
55317294 2
52172395 2
5217296, 4

Question Number : 25 Question Id : 55317225 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

One litre solution containing 20 g of sucrose (C12H22011) is
isotonic with 450 ml solution containing 1:65 g of boric acid
(H3BOs3). Find the molar mass of boric acid.

1. 67:2 g mol’
162-27 g mol™’
62:7 g mol
620-7 g mol™’

ol

Options:
553172971
55317298 2
55317299 2
S52172100 4

Question Number : 25 Question Id : 55317225 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




Teh foret faeraret fSEd 20 g GehlaT (C12H22011) &, T 450 m
faerasr [59# 1:65 g @I TiAs (H3BOs3) §, IHAWRT g
S UfAs T AleR GedH T a8 |

1. 672 g mol™’
16227 g mol™’
62-7 g mol™’
620-7 g mol™'

> W N

Options:
553172971
55317298 2
55317299 2
52172100 4

Question Number : 26 Question Id : 55317226 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Determine the value of E_, for

Cu(s) | Cu**(aq) || Ag® (aq) | Ag(s)

0l M 01 M
Given that E, 44, = 0- 80V and E¢ g 2+ = —0- 34V
1-14 V
0-46 V

1-169 V
0-435V

L -

Options:

5531721011
553172102 2
S52172102 2
52172104 4




Question Number : 26 Question Id : 55317226 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
E . & Hld &I ddA5T
Cu(s) | Cu**(aq) || Ag® (aq) | Ag(s)

0.1 M 0.1'M

feAT aTAT g Epgrjpg =0 B0 VAU Egy oo = —0- 34V

1. 114V

2. 046V

3. 1169V

4. 0435V
Options:

552317210101
SS317210Z2 2
SS3172102 2
553172104 4

Question Number : 27 Question Id : 55317227 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Which one of the following elements is most electropositive?

1. Mg

2. Zn

3. Fe

4. Sn
Options:

55317210501
SS3172106. 2
SS3172107. 2
S52172108. 4

https://exams.



Question Number : 27 Question Id : 55317227 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

foie=1 # Haifte faedd e=lcAs Hid g2

1. Mg

2. Zn

3. Fe

4. Sn
Options:

55317210501
SS3172106. 2
SS3172107. 3
S52172108. 4

Question Number : 28 Question Id : 55317228 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Identify the order of reaction and unit of rate constant for the
following rate expression.

Rate = K[A]*2[B]
1. 2 &[32mop2gT
4

—1 &L mol1s

2

3. 2&L2mol¢s!

4 1 8 [1-12mol12 g1
2

Options:

5531721091
S52172110 2
52172111 . =
So52172112 4

Question Number : 28 Question Id : 55317228 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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foie<T e chateh § TRTHAT ST HIfe AT 371 [AIdTH FT Tehah
SATST|
& = KIAF2[B]
1. =& L[2mol?s™

2. —-1&Lmol's
3. 2&LZmol2sT
4

1
E & L—‘HE m0|1f2 S—‘!

Options:

5521721091
52172110 2
52172111 3
553172112 4

Question Number : 29 Question Id : 55317229 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Consider a reaction, A — Product with k= 2-303 x 102 s 1.
Calculate the concentration of ‘A’ remaining after 100s if the
initial concentration of ‘A’is 1-0 mol L

1. 01 mol L

2. 0-2mol L™

3. 0:01 mol L

4. 0-02mol L’
Options:

S53172112 1
553172114 2
553172115 =
553172116 4

Question Number : 29 Question Id : 55317229 Question Type: MCQ Optlon Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vextical wwostonsep




Correct Marks: 4 WrongMarks: 1

AT A - 3carg WX Far Hifoe St k= 2:303 x 102
s~1 g1 3¢ ‘A’ FT IRTEHS Alegdr 1-:0 mol L1 &1, df 100s &

d1G ‘A’ T HIegdT sl AT0TAT ST |
1. 01 mol L
2. 0-2mol L
3. 001 mol L
4. 0-02 mol L
Options:

5531721121
553172114 2
553172115 3
553172116 4

Question Number : 30 Question Id : 55317230 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Which of the ion is responsible for the charge of As2S3 due
to adsorption?

1. H°

2. OH"

3. O

4., $*
Options:

5531721171
553172118 2
5531721139 =
S521721z20 4

Question Number : 30 Question Id : 55317230 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




37fereNwoT F As2S3 UR 313 & AT hier 3 SFASR §2

1. H

2. OH

3. 0O~

4. S§*
Options:

SS32172117. 1
53172118 2
553172119 =5
553172120 4

Question Number : 31 Question Id : 55317231 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Which of the following principle does the refining of
Zirconium metal?

1. Low melting metal can be made to flow on a sloping
surface and is separated from high melting impurities

2. Impurities are more soluble in the melt than in the
solid state of the metal

3. Metal is heated in a stream of CO and forms a
complex, which is decomposed to give pure metal

4. The crude metal is heated in an evacuated vessel
with iodine, then the metal iodide is decomposed to give
pure metal

Options:

5531721211
S52172122 2
oo2172122 5
o53172124 4

Question Number : 31 Question Id : 55317231 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1 hipsiexams




{1 71 @ o7 a1 [Ated fSshifaiaed e s TRHIoT el
g7

1. Te<T Teleiieh arel UTd I Teh Eellel arell Helg & Tgol
fear ST & S8 a8 3© ITeleieh arell RIS § 37oTeT &t
STl &

2. T T I 3TGEAT I Jololl H IRGTEAT ATTelcd H ST
et

3. oId H CO HI URT H IRA Filel T HHL FaAdl & Sl
faefed glehT Qetr 4T JeTel ldrl &

4.  3ORSH Ui i fFaifad o 7 &S & @Y IRA
I & T T 3masTss faEfed gle ORI YTd Jete hidm
v

Options:

5521721211
52172122 2
So53172122 5
553172124 4

Question Number : 32 Question Id : 55317232 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




Select the correct order of group 15 hydrides in their
decreasing order of basicity

1.  PHsz > NHsz > AsH3z > BiH3
2. NHz>PHz> AsH3 > BiH3
3. AsHz > BiH3z > NHz > PHa3
4. BiH3s > AsH3z > PH3z > NHs

Options:

5531721251
52172128 2
EL2172127. 2
So2172128 4

Question Number : 32 Question Id : 55317232 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

9 15 BTSZTSST ol 3otenl &TRehdl & Hed el A T

1.  PHs > NHsz > AsHz > BiH3

2. NHs > PHs> AsH3z > BiHs

3. AsHs > BiH3z > NHs > PHs

4. BiH3z > AsH3z > PH3 > NH3
Options:

S53172125 1
SS3172126. 2
SS3172127. 3
SS31721Z28. 4

Question Number : 33 Question Id : 55317233 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




How many o (sigma) and m (pi) bonds are present in
cyclotrimetaphosphoric acid?

1. 3mand 120

2. 4mand 150
3. 3mand15c

4. 4mand 120

Options:

531721291
553172120 2
553172131 2
553172132 4

Question Number : 33 Question Id : 55317233 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

ARIFACISHETRRESIRS TS & fhdst o (Rean) 3R 7 (pi)
3T 39TEUT 272

1. 3mdAdr12c
2. 4m dAT 150
3. 3rdar15c

4. 4ndAr12o

Options:

531721291
553172120 2
553172131 2
553172132 4

Question Number : 34 Question Id : 55317234 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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A compound ‘X’ reacts with Clz in presence of charcoal to
give sulphurylchloride. Compound ‘X’ converts iron (lll) to
iron (ll) and decolourises KMnOs solution. What is
compound ‘X™?

1. H20:2

2. SO0z

3. H2S

4. H2S0s4
Options:

553172132 1
553172134 2
5532172135 3
553172136 4

Question Number : 34 Question Id : 55317234 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Ush IR ‘X IR &l 39TEUd & Cly & fRHAT b
TGS FlRTSS &l o | AR X 3T 111 &Y 3T 11 A
deoldT g JAT KMnOs faoraa & Wil &Y &aT g Tifaes X
FI1 §72

1.  H20:2

2. S0z

3. H2S

4. H2S04
Options:

5531721321
5531721324 2
5532172135 3
553172136 4




Question Number : 35 Question Id : 55317235 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Which one of the following statements in incorrect?
1. Sforbitals are not buried of 4f orbitals.

2. OSforbitals differs with 4f orbitals in their angular part
of the wavefunction.

3. 5f electrons can participate in bonding to a greater
extent.

4. 5Sfelectrons have poor shielding than 4f electrons.

Options:
S5olr21=37. 1

553172138 2
553172139 =5
553172140 4

Question Number : 35 Question Id : 55317235 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

T 7 O Sla-ar U Jar Asr g2
1. 5f eTeh, 4f HeTHh W Idied aTel g

2. 5f Fe&iF, Af FeTh H 39 dT Boled & hIvig HTT
AP

3. 5f Solacled Taeted H SIIET 8¢ do (TRHATIT H) 31T
CEET RS

4. Af Y oIl 7 5f FolereTel hT IRIETOT goel &

Options:
5531721371
552172138 2

553172139 =2




553172140 4

Question Number : 36 Question Id : 55317236 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Which one of the following is a disproportion?
1.  2Na2CrO4 + 2H" - Na2Cr207 + 2Na* + 2H20

2 NazCrO7 + 2KCl| — K2Cr207 + 2NaCl
3. 3MnO;i +4H* - 2MnO; + MnO2 + 2H20
4 2KMnO4 —» K2MnO4 + MnO2 + Oz

Options:

553172141 1

553172142, 2

SS3172142 =
553172144 4

Question Number : 36 Question Id : 55317236 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

foesT 7 @ Sl I FATTaTT AR 82

1.  2NazCrOs + 2H" —- Na2Cr207 + 2Na* + 2H20
NazCrO7 + 2KCl = K2Cr207 + 2NaCl

2.
3. 3MnO; +4H"- 2MnO; + MnO2 + 2H20
4. 2KMnOs —» K2MnQO4 + MnO2 + O2

Options:

5531721411
553172142 2
553172142 2
552172144 4

Question Number : 37 Question Id : 55317237 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




Match the complex in Column-I| with its function given in
Column—lII :

Column—I Column-II
a. cis-[Pt(NH3)2Cl2] I Oxygen transfer
b. Chlorophyll i Catalyst
c. (PhsP)sRhCI i  Photosynthesis
d. Haemoglobin iv  Antitumour drug

Select the correct option:
1. a-=ivib-iiiic—ii, d-i
2. a-iv:b—-i:c=ii;:d-ii
3. a-i;b-ii;c—ii;d-iv
4. a-iib-ivic—1:d-ii
Options:
CEE172145 1
CEE17214e. 2

5532172147 3
553172148 4

Question Number : 37 Question Id : 55317237 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




FIoTH-| F T 37T g T Frad-I| F CU 31T 378 YAt
| gAferd FITST 741 7T [ashed I -

FlctdH—| =arer S|
HTFHIST
a. [AF[Pt(NH3)2Cl2] i
ETATed{ U]
b. FARIThT i 3RS
c. (PhsP)sRhCl i TehTr THLITOT

d. gHAEEET v TeCieg#A 39T

1 a—ivib—-ii:c—1i,d-i
2. a-—ivib-i:c—ii;d-iii
3 a—I1;b—iic—ii; d-iv
4. a-iicb-ivic—i:d-ii

Options:

52172145 1

CE2E172146. 2

553172147 =5
553172148 4

Question Number : 38 Question Id : 55317238 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




On reaction of haloalkane(s) with a reagent ‘A’
Isocyanide(s) is obtained as major product. What is ‘A7

1.  KCN

2. NaCN

3. HCN

4. AgCN
ptions:

SS32172148. 1
S53172150 2
553172151 =5
553172152 4

Question Number : 38 Question Id : 55317238 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

gollUcohal/gdllUcahal h ITHFRE: ‘A’ & iy FfAfsar
HISHHIASS/AMSAAIASS! Sl HET 3cdlg & §9 H &al
gl A'FaTg?

1.  KCN

2. NaCN

3. HCN

4. AgCN
options

55321721481
S53172150 2
553172151 =5
553172152 4

Question Number : 39 Question Id : 55317239 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




Which one of the following equations represents Reimer-
Tiemann reaction?

COOH
i. N,OH
i.co, |
L iii, H'
OH OH
i, Cl/FeCls
2, ii.ag. NaOH
iii. H,0/H’
OH OH
CHO
3 i, EHEI;J-"aq. NaDI:I
ii.H
OH
i, Zn
e Zno
% @ A TR

Options:

521721521
52172154 2
52172155 o
553172156 4

Question Number : 39 Question Id : 55317239 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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AT & g & @ ia-ar Ja-daa faAfear &
HTFCTFT AT 67

&l OH
COOH
i. N,OH
1.COy
1. i, H'
OH OH
i. Cly/FeCl;
¥, ii.ag. NaOH
iii. H,O/H’
OH OH
CHO
3 i. CHCl3/aq. NaOH
iiH
OH
i. Zn
e +Zn0
& @ i A

Options:

521721521
52172154 2
52172155 o
553172156 4

Question Number : 40 Question Id : 55317240 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Identify the following reaction:

O'Na™ . COa OH
NaOH | i W COOH

OH
|
0 o —
Kolbe's reaction
Reimer-Tiemann reaction

1.
Z
3. Etard reaction
4.

Gattermann-Koch reaction

Options:

5531721571
553172158 2
552172159 2
52172160 4

Question Number : 40 Question Id : 55317240 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




OH ONa' . co, OH

| NaOH I i, H COOH
Q —— © —

3. werEs dfATRAr
4. IMeIATT-HE AR

Options:

55321721571
52172158 2
52172159 5
553172160 4

Question Number : 41 Question Id : 55317241 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Compounds A, B, C, D, E and F are CH,=CH—CHO;
(CH3),C=C(CHs),; CH;CH=CH—CHs;

CH;C=C—CH,—CHj;; CH;—CH=CH, and

CH;—C=C—CH; respectively. Which of the above
compounds upon ozonolysis can give aldehydes?

1. A B,D,andF

2. A,CandE

3. B,DandE

4. Aonly
Options:

553217216101
SS3172182. 2
S53172162. 5




S53172164. 4

Question Number : 41 Question Id : 55317241 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Tifees A, B, C, D, E g7 F &H2T: g CH,=CH—CHO;
(CH5),C=C(CHjs),; CH;CH=CH—CHj;

CH;C=C—CH,—CH;; CH;—CH=CH, 2T CH>—
C=C—CH;

3WIFd TR # § Fid A ATITTT el I Tiesgssr
I CIM?

1. A BD,darkF

2. A CHaE

3. B,DAaME

4. AHAA
Options:

SS321721610 1
SS317216E. 2
5531721682 35
553172164 4

Question Number : 42 Question Id : 55317242 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Identify the products A and B for the following reaction:

NIT,
) TaN()s CllgI*_.
NaNO; + HCI A B
_— —_—
0-50C
N>'Cl I
1) A- B - @
NOg N3+Cl'
N K B -
N,CI T
3) A- B -

i :
AN ©) N ©
Options:
5531721651
553172166 2

SS3172167. 3
SS53172168. 4

Question Number : 42 Question Id : 55317242 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




foeeT 31TATHAT & [T 3c91E A TUT B & 910

NH;
NaNO; + HCl Cu.ly
G A B
A —
0-5°C

2

&
&
ik
O

&
>
Z
+
Q
o
©-- O
o

Options:

531721651
53172166 2
553172167 2
553172168 4

Question Number : 43 Question Id : 55317243 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Which one of the following is NOT present in RNA?
1. Adenine
2. Guanine
3. Cytosine
4. Thymine
Options:

5531721691

52172170 2

5531721713
553172172 4

Question Number : 43 Question Id : 55317243 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

RNA # fo#1 H ¥ i 397EUd g1 g2
1. USelle
2. 3T
3. dgcHe
4.  gIIHEA

Options:

5521721691
EE2172170. 2
52172171 5
53172172 4

Question Number : 44 Question Id : 55317244 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

https://exams.




The type of nylon-6,6 is
1.  Addition polymer
2. Condensation polymer
3. Homopolymer

4. Natural polymer

Options:

S5olr217= 1
oc523172174 2
553172175 o
553172176 4

Question Number : 44 Question Id : 55317244 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

ATTATA-6,6 T g &l Sl g7

1. Hhold 98l
M |

2. dgdd Sg el

3. YHHdgdh
S

[

4. Ylhldeh dgeleh
= R

Options:

531721721
553172174 2
553172175 o
553172176 4

Question Number : 45 Question Id : 55317245 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Which of chemical compounds is used for the treatment of
stress or mental disorder?

1. Analgesics

2. Tranquilizers
3. Antibiotics

4. Antihistamines

Options:

5531721771
553172178 2
552172179 2
52172180 4

Question Number : 45 Question Id : 55317245 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

deTTd 37UaT AT J9T & 39TR & fow @ea & 9 sla-ar
TR iR T 8IaT 672

1. UISERY

2. WRMedsh

3. yfaaas
4. yiagEeldd

Options:

531721771
53172178 2
553172179 3
553172180 4

Question Number : 46 Question Id : 55317246 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




Select the correct order of catenation for C, Si, Ge and Sn
1. C>>Si>Ge= Sn
2. C>Si>Ge>3n
3. Sn>Ge>Si>C
4. Si=C>>Ge>3S8n

Options:

5317218101
553172182 2
5531721832 o
5531721584 4

Question Number : 46 Question Id : 55317246 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

C, Si, Ge dYT Sn & foIT @eTel T TET v YfAT

1. C>>S8i>Ge = Sn

2. C>8Si>Ge>3Sn

3. Sn>Ge>Si>C

4. Si=C>>Ge>3n
Options:

55317218101
SS3172182 2
S53172182. =5
553172184 4

Question Number : 47 Question Id : 55317247 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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The oxidation state and covalency of aluminium in
[AICI(H20)s]?* are respectively

3,6
6,3
3,0
6,5

il

Options:

531721851
553172186 2
553172187 2
553172188 4

Question Number : 47 Question Id : 55317247 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

[AICI(H20)s]** & UelfATTd I HTerdenIor 3aeem aar

e HAlSTehdl el b |

1 3.0
2. B6,3
. 3.8
4. 6,5
Options:
5531721851
552172186 2

SS3172187. =2
553172188 4

Question Number : 48 Question Id : 55317248 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

https://exams.



All enzymes that utilize ATP in phosphate transfer require

‘A as the cofactor.
What is A?
1. Ca
2. Mg
3. K
4. Na
Options:

53172189 1
553172130 2
553172131 =5
SS317213Z2 4

Question Number : 48 Question Id : 55317248 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

THT TeATSH ST ATP Sl BIERT 3A0T H 3TATIT F:d & 3Ah]
HEHR ‘A’ HI HTARIFdATalar g | ‘A’ FAT 82

1 Ca
2. Mg
3. K

4. Na

Options:

5531721891
553172190 2
553172191 =
552172192 4

Question Number : 49 Question Id : 55317249 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Which of the following is used for the product of UFs in the
enrichment of 23°U?

1. ICls

2. BrFs

3. CIFs

4. CIFs
Options:

553172192 1
553172134 2
553172135 =5
553172136 4

Question Number : 49 Question Id : 55317249 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

235U & FHEY H UFs & 3cUTE & oIt faet & & et 5= d
BIelT £

1. ICls

2. BrFs

3. CIFs

4. CIFs
Options:

553172132 1
553172134 2
553172135 =
553172136 4

Question Number : 50 Question Id : 55317250 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Which one of the following gas is NOT present in
atmosphere?

1. He

2. Kr

3. Rn

4. Ne
Options:

S53172197. 1
SS3172138. 2
5531721359 =5
SS3172200 4

Question Number : 50 Question Id : 55317250 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
fore=T It A O o7 Teh argHSS H AT IR A g2
1. He
. Kr

2
3. Rn
4. Ne

Options:

531721971
553172198 2
553172199 2
553172200 4
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Correct Marks: 4 Wrong Marks: 1

From the given physical quantities which one is a scalar
quantity?

Dipole moment

 F

2. Electric field strength
3. Electric current density
4. Electric current

Options:

5531722011
553172202 2
52172202 2
52172204 4

Question Number : 51 Question Id : 55317251 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

=T &Y 315 Sl AT H T FiT v feer afA &7
1. gy et

2. faega & drgar

3. Taegd 4R geica

4. faegd arr

Options:

co53172201.1
53172202 2
553172202 2
553172204 4
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Which one of the following is NOT the unit of power?

1. kWh
2. kKW
3. W
4. J/s

Options:

5531722051
SS2172208 2
oo3172207. 3
553172208 4

Question Number : 52 Question Id : 55317252 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
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Correct Marks: 4 WrongMarks: 1

fAFATo @ & & hiel AT ATSd T ATTF Asl 67
1. Troltare-ger
2. Tohdlare
3. dre

4. A/ TH

Options:

5531722051
553172206 2
52172207 2
2172208 4

Question Number : 53 Question Id : 55317253 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
A person traveling at 18km/h applies the brake giving a
retardation of 2.5 ms to his vehicle. How far will it travel

before stopping?

1. 50 m
2. 5m
3. 25m

4. 648 m




Options:

5531722091
S52172210 2
52172211 =
So3172212 4

Question Number : 53 Question Id : 55317253 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
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Correct Marks: 4 Wrong Marks: 1

18 foraiY / geT ST a1l § TAAT Fis cafed S o 379eT
dTge] &l 2.5 ms™ &l AT UGTel hidl g [ATHTGEAT H T &
qd ag el g e THeT FHam?

1) 50 &

2) 5HT

3) 25 &I

4) 64.8H

Options:

531722091
53172210 2
553172211 2
553172212 4
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Correct Marks: 4 WrongMarks: 1
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The motion of an object along the positive x axis as a
function of time (t) is given by

x=ptt+qté+rt-3

Which graph below best represents the variation of the
acceleration (a) of an object as a function of time (t)?

sssssssssss




Options:

5531722121
552172214 2
52172215 =
So23172216 4
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HeATcH x- 38T & eAfeer AfaATe fohaT 93 hr a1 r
A (t) & Bold o $9 H 39 YR [@019d [T 3T &
x=pt'+qtf + rt -3

A T T i a1 I, 39 s & ca’oT (a) & AT (1)
& Boldl o &9 & TGTLOT T GaidH FEIur HIarg ?
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Options:

5531722121
552172214 2
52172215 =
So23172216 4

Question Number : 55 Question Id : 55317255 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The wheel of a motor accelerates uniformly from rest. In
the first second it rotates through an angle of 2 radian.
What would be the angle through which it rotates in the
next second?

1. 2 radian
2. 4 radian
3. 6 radian
4. 8radian

Options:

5531722171
553172218 2
552172219 2
EL2172220. 4

Question Number : 55 Question Id : 55317255 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Y Hrex &1 9fear fauH @ tgdATs &9 @ caRd &f @1
| Tgo Tehs H Ig 2 I3 & T ) gioTd gidr g | 3eTel
A3 H g fhdel 10T 91 gioTd g7

1. 23T

2. 433TaT

3. 63

4. 83T

Options:
5531722171
S5ol7221B 2

SS317221%9. =2




SS3172220 4

Question Number : 56 Question Id : 55317256 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The speed - time graph of a particle moving along fixed
direction is shown in figure below. The average speed of
particle over an interval t = Os to

t = 8s will be

[ITIJ"IE} 3

speed
1. 16 m/s 9 _
2. 12 m/s |
3. 8mls .
4. 4 m/s , .

0 4 8  tls)—»
Options:

SS31722210 1
SS3172228 2
SS3172223 3
553172224 4
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TR TeRIT & 3regieRr aTaet X Tahdll 0T T Tel-HAL
Ah NG A GMT HAAR § | FAT- ARl t = 0s @ t = 8s
deh, H 59 FH0T &l 3irEd ITel grafT

I:ITl.I‘rS} &
speed

1. 16 HieX / dF3
12 #iex / @3
3. 8 #Hex /A3 |

4. 4 HeX /93 i 5 .

4 8 tls) —»

(%)

Options:

5531722211
553172222 2
52172222 2
52172224 4

Question Number : 57 Question Id : 55317257 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Three equal masses each of mass m are placed at the

corners of an equilateral triangle of side L. The magnitude
of gravitational force by this system on a mass m placed
at mid-point of a side will be

1. 2Gm?/3L?
2. 4Gm?/3L?

3. 8Gm?/+/3 L2
4. 4 Gm?/+/3 L2

Options:
Soolr22EE 1

SS3172226. 2
SS3172227. 3
SS3172228. 4
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HHATA G AT m o clied T3 815 o foell TaTg Hegst &
Mt R IW B | 38 AT garT 36 He7ar i fonedT e o
AEY-Taig IR U GedHAT /1 I AR Icarehyor dol

e
1. 2Gm?/3L2

2. 4Gm?/3L2
3. 8Gm?/+3 L2
4. 4 Gm?/+/3 L2

Options:
Soolr22EE 1

SS3172226. 2
SS3172227. 3
SS3172228. 4

Question Number : 58 Question Id : 55317258 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

An object is thrown vertically upward such that the
distance covered in the 61 second is half that covered in

the 5" second. The initial velocity of the object is,

1. 75 ms™

2. 65 ms
3. 35 ms?

4. 25 ms™’

Options:

5531722291
553172230 2
552172221 2
EL2172222 4
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Correct Marks: 4 Wrong Marks: 1




Y T3 &1 3TaR 39X 3T YR thepl 31T § o 3%
CART B Wehs H a1 I g urard ehs H o &l 715 g
&I 3el §1 59 U3 1 yRfAw T g

1. 75 ms™
2. 65 ms’!
3. 35 ms™!
4. 25 ms’!

Options:

531722291
553172230 2
553172231 3
521722322 4

Question Number : 59 Question Id : 55317259 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A body executing SHM has a maximum speed of 30 cms’
' and a maximum acceleration of 60 cms2. What is the
time period of oscillating body in seconds?

1. @
2. ml2
3. 2
4. /4
Options:

SS3172232 1
SS53172234. 2
SS3172235 =
S53172236. 4
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XA ATad 31T A AT Oz & 31f8ead arer 30 cms™!
31 371 ae caIuT 60 cms™! B | &l Sl 59 TUS &l
Aehsl & 3ad i FAT g7

1. o
2. /2

3. 2
4. /4

Options:

5531722331
5521722324 2
52172235 2
So3172236 4

Question Number : 60 Question Id : 55317260 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A person standing in a stationary elevator throws up a
coin with a certain velocity vertically upwards. The coin
returns in 10s. The elevator now starts moving and he
throws up vertically the same coin with the same velocity.
The coin returns in 12s. The elevator must be moving

1. Downward with uniform velocity

2. Upward with uniform velocity

3. Downward with uniform acceleration

4. Upward with uniform acceleration

Options:

5531722371
52172238 2
521722329 2
S523172240 4

Question Number : 60 Question Id : 55317260 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
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Correct Marks: 4 Wrong Marks: 1




s safad faraTarar $1 frar foroe 7 et @ 1
fordT 991 O 3eatR 3oarg IR IE AT 10 TFes H
gy diic AT g1 319 Ig Toroe 31T et ofeTdl ¢ 3R a8
AT 34T e &f 38T 397 § T 3oTadl &1 39 §R
OeerT 12 Tahes 7 Q1o dlledT g 3TTd Rd TH T ToToe &7
THGHTT

1. ot =) Y 3R e TRT
2. 497 39T T AR @eTr AR
3. TAROT I AT T IR BT AT
4. aIOT AT AT hT 3T glaT AIfgT

Options:

5531722371
EL2172238 2
So53172229. 5
553172240 4

Question Number : 61 Question Id : 55317261 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A heat engine operates between a cold reservoir at
temperature T2= 300 K and a hot reservoir at
temperature T1. If it were to take 100 J of heat from the
hot reservoir and deliver 80 J of heat to the cold reservoir
in each cycle, the minimum temperature of the hot
reservoir would be

1. 350 K

2. 3T K

3. 400 K

4. 450K

Options:
5531722411
553172242 2




S53172243 =5
553172244 4

Question Number : 61 Question Id : 55317261 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
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Correct Marks: 4 WrongMarks: 1

IS ISAT $o7e1 AIIAT T, = 300 K A9 W el 38 F35 3R
T, a9 R fFeT avd &3 & @i Jares Hdl & | I a8
Solel Ucdsh Tsh H ded 3 § 100 J 3SAT T & 3R 33 %3
I 80 ) ISATSAT &, T T &3 HT wgATH oTd 1IN

1. 350K

2. 375 K
3. 400 K
4. 450 K
Options:

SS31722410 1
553172242 2
SS3172243 =2
S53172244 4

Question Number : 62 Question Id : 55317262 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
One mole of an ideal monoatomic gas, undergoes an
iIsothermal expansion at a constant temperature T. If the
initial and final values of its pressure and volume are (P1,
V1) & (P2, V2) respectively, the amount of heat energy
supplied to the gas during this change is
1. RT Ln(P1/P2)

2. ~RT+RT (n(P1/P2)

3. g RT + RT Ln(P1/P2)
4. RT In(Vi/V2)

Options:
553172245 1
553172246 2




S53172247. 3
553172248 4

Question Number : 62 Question Id : 55317262 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

farell TeraTATIT 31T 3 & ek Aol & fATd a9 T o
Teh AT JHR §31T & | Ife 38 3 & IR 3R 3rmca
aTd AT (P, V,) HR (P, Vy) %THTE_HWH$W

g A A ISHT FATHrATATE
1. RT Ln(P1/P2)

2. ~RT+RT (n(P1/P2)

3. g RT + RT Ln(P1/P2)
4. RT In(VilV2)

Options:

53172245 1
553172246 2
553172247 o
52172248 4

Question Number : 63 Question Id : 55317263 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A tuning fork vibrates at 256 Hz. What would be the
minimum length of a closed organ pipe that resonates
with the tuning fork? (Take speed of sound in air = 360

ms™)

1. 901 em

2. 38.1cm

3. 70.2cm

4. 82.2cm
Options:

S53172249. 1
SS3172250. 2
553172251 3
SS3172252 4
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Correct Marks: 4 WrongMarks: 1

IS FANA SfAHST 256 ol I HUT FcT & | 36 FARA
STATST 311G e aTel fohdll g 311eTeT g T 7 &
HH STFaTS Tehclail gleil =MTeW? (A 3 eafel i =mel = 360
ms!)

1. 35.1 Q#r

2. 38.1 @A

3. 70.2 AT

4. 82.2 Q&Y

Options:

5531722491
S52172250 2
52172251 2
So3172252 4

Question Number : 64 Question Id : 55317264 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The ratio of number of antinodes present in the third
harmonic to that present in the fourth harmonic in an

open organ pipe is given by

1. 4/5
2. 3/4
.
4. 516
Options:

553172252 1
SS3172254 2
SS3172255 3
553172256 4
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Correct Marks: 4 Wrong Marks: 1




ferell ot are T Y R A[OTafd H YT TEdwal I
aEar AR AT aongfa 7 39TET TEdeal Sl H&AT
AT BIT & -

1. 4/5

2. 3/4

3. L/)2

4. 5/6
Options:

SS3172252 1
553172254 2
SS3172255 3
SS3172256. 4

Question Number : 65 Question Id : 55317265 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A box of mass 2 Kg is lying on a horizontal floor. A force
of 30 N is applied on the mass horizontally and the block

does not move. The coefficient of static friction is
1} 273
2) 312
3) 142
4 1/3

Options:

531722571
53172258 2
553172259 o
553172260 4
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2 TohlTaITa G &1 SIS diad [T &lfdet BT 9T
foRTATaEdT A § | diad oY &lfcoT G2m H 30N & §f ool
TR S # FIs 1T 61 Bl (I8 61 goidl 8)| Tfca efor
T (0T &

123

2) 342

3) 172

4) 1/ 3

Options:

oo3172257. 1
53172258 2
553172259 o
553172260 4

Question Number : 66 Question Id : 55317266 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A given object, kept in a large room having an air
temperature of 25 °C, takes 12 minutes to cool from 80
OC to 70 °C. The time taken by it to cool from (70 °C to
60 °C), would be

1. 13 Minutes

2. 14 Minutes

3. 16 Minutes

4. 15 Minutes

Options:

co3l172261. 1
S53172262 2
5531722632 o
553172264 4

Question Number : 66 Question Id : 55317266 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
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Correct Marks: 4 WrongMarks: 1




farelt 93 T, Toreeh! arg &1 a1 25 °C §, 7 t@r #1s f&an
a1r s 80 °C &/ 70 °C deh 3T 8l H 12 AT &l 7T

ar g TJer s 70 °C & 60 °C da 33T &l & fohdalr T
SIaTT?

1. 13 f&=e
2. 14 A«e
3. 16 Aec
4. 15 fAs1c

Options:

531722611
553172262 2
5531722632 2
552172264 4

Question Number : 67 Question Id : 55317267 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The angles of contact between the capillary tubes and
three liquids in three containers A, B, C are 30°, 90° and

120" respectively. The level of liquid inside the capillary

tube in containers

1. B falls and C rises

2. A rises and B neither rises nor falls
3. C falls and B rises

4. A falls and B neither rises nor falls

Options:

oo3172265. 1
S53172266 2
553172267 o
553172268 4
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Correct Marks: 4 WrongMarks: 1




Al grEr A, B 3R C # X Al e gal 3R 3aH &
HAATTIAT & &I T9eh 10T hAm: 30°, 90°,120° §1 39
HAT H A &d &I ddl

1. AT PRITAIT B HE IR FW IS T arg C H g
2. 3O 3G AT 9T A H § 3R 919 B & sharetell H o dr
FUY 3T AR A &5 oired IR |

3. A AR SN YA CHE IR FW ISM AT T B A gl
4. A FORET SrarT A 7 § 3R 919 B & Sheradell Ao ar

FUT 3S3T 3 7 8T A fILam|

Options:

5531722651
553172266 2
SS2172267. 2
2172268 4

Question Number : 68 Question Id : 55317268 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

An object of mass m, moving with a speed v, collides with
a stationary object of mass M & gets linked with it to form
a single object.

The loss of kinetic energy, during this collision, equals
the potential energy, stored in a spring (spring constant

K). When its normal length is changed by an amount x
the value of x equals

[ v[mM/(k(m+M)*

2. v[mMKk/(m+M)]*

3. v[vmM/(k(m+M))"?

4 [vkmM/m+M]"?
Options:

553172289 1




SS3172270 2
SS3172271. 3
SS3172272 4

Question Number : 68 Question Id : 55317268 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
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Correct Marks: 4 Wrong Marks: 1

=T v & ITAHTT m FT Fre 92 32799 M F & Eemsmaer
F fis 9 92 F9F 399 HUFas v i a9 Jmar g |
TH THE *hf AT | ZI ATSAT (AT I 7 &7 et
FHT(FATT R k) ¥ 39 Rufa & g9 Ratw 391 %
FITaY g S FATT 7 9T AT § g AT T adae X

eI AT XFTHF aLTa< 2

. v[mM/(k(m+M)]"
2. v[mMk/(m+M)]”*
3. v[vm M/ (k (m+M))"?
4. [vkmM/m+M]'"?
Options:
5217226491
S5S172EF0 2

SS3172271. =2
SS317227E 4

Cine Guion Option - No. Option Oriantation -vertical Tre e Option Shulling: o Display Question Humber : Yes Snle
Correct Marks: 4 Wrong Marks: 1
A particle of a mass m is moving in a circle of radius ‘r
with uniform speed v. Choose the correct option:
1. Radial acceleration ar = 0; Tangential acceleration at
* 0
2. Radial acceleration ar = 0; Tangential acceleration at
=0
3. Radial acceleration ar # 0; Tangential acceleration at
* 0
4. Radial acceleration ar # 0; Tangential acceleration at
=0

Options:




SS3172273 1
SS3172274 2
SS3172275 3
SS3172276. 4

Question Number : 69 Question Id : 55317269 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
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Correct Marks: 4 WrongMarks: 1

ST m 3T &g T AT v’ & H UHTAT drel v
TAA FI T &1 AT # H el Tdhod giaAT-

1. ST @7 a, = 0; T9LY {W@F a7 a, # 0

2. BSa RT3, = 0; TR W@T caloT a, = 0

3. BT caur a, # 0; TN YW RT3, # 0

4. AT caROT a, # 0; TN W c@oT a, = 0

Options:

5531722731
553172274 2
52172275 2
EL2172276. 4

Question Number : 70 Question Id : 55317270 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A wire of initial length ‘L’ and radius ‘r’ is stretched by a
length ‘L'. Another wire of same material but with initial

length ‘2L’ and radius ‘2r’ is stretched by a length ‘2L'.

The ratio of the stored elastic energy per unit volume in
the first and second wire is

1. 14
2, 1%
3., 2.1
4. 1:1
Options:

SS3l172277. 1
SS3172278 2
SS3172279. 3
S53172280. 4
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YRTAF e ' L' 3R B v & o ar & diget 398
'L ST gefer T I | 3 gerd & YRS ofearg 2L AR
s 21 & fordll 31T JX T Wiwe 38A '2L ' T ge e Hr
AT E | 9gel 3R GEY dR & 9id Uehieh 3l # Haidd
TcITEY FaiT T 3eTdTd §-

1. 1:4
2. 1:2
% 2:1
4, 1:1
Options:

SS3172277. 1
SSE172278. 2
SS3172279. 3
S53172280 4

Question Number : 71 Question Id : 55317271 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The percentage errors involved in the measurements of
mass, radius and length of a solid metallic cylinder are 3

%, 2 % and 1 % respectively. Then the maximum

percentage error in the measurements of its density is
1. 7%

2. 8%
3. 9%
4. 10%
Options:

5531722811
SS317228E 2
SS3172282 3
553172284 4

Question Number : 71 Question Id : 55317271 Question Type: MCQ Optlon Shufflmg No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vextical




Correct Marks: 4 WrongMarks: 1

ferelT &1 o 31 Tlelst & gegAre, =2 3R &es & Arder
H glel aTell 1T T ATARTAT FARM: 3%, 2% AR 1% &1 a9
=g fafeisy & 9ard & gsica & A9 H gl arell iflsad

fe T ufcrerdar gref-

1. 7%
2. 8%
3. 9%
4. 10%

Options:

5531722811
52172282 2
EL2172282 2
So523172284 4

Question Number : 72 Question Id : 55317272 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A body constrained to move along the z- axis of a
coordinate system is subjected to a constant force F
given by F =(-i+2j+ 3k)N, wherei,j, k are unit
vectors along the x, y and z axis of the system
respectively. What is work done by this force in moving
the body a distance of 4 m along the z axis?

1. 4J
2. 8J
3. 12J
4. 16 J
Options:

S53172285. 1
SS3172286. 2
SS3172287Y. 3
SS3172288 4
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Correct Marks: 4 WrongMarks: 1

fordY fAcemmer Jomell & z- 3787 & T2 7T el & foIT
e T U 9¥ 3R §o F ! 88 YR [S%ad har
IATE

F=(-1+2j+3k)N

TE1 1, ], k HA: TH TUTI & x, y 3R z 3787 & Heffaer
Ushieh HIGRA & | $H ol GaNT U3 & z- 38T & HeIiGer 4m

&1 T A1 et 3 ToR3T 91T S bttt grem?

1. 4.4d
2. 8J
3. 12
4. 16 J
Options:
553172285 1
553172286 2

SS3172287. 3
SS3172288. 4
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A particle under uniform circular motion is having angular
momentum ‘L’. If kinetic energy of the particle is doubled

and frequency is halved, its new angular moment is

1. L/4
2. 2L
3. 4L
4. L/2

Options:

5217228491
52172290 2
o52172291. 3
53172292 4
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U AT Tclel ATl e fehdl 0T T HIUIT HAeT 'L’ B
F1E HUT T TS Fail QlaTail AT 3T ITef T &1 S oY
ST oTAT IO HA3T 14T -

L L3
2. 2L
< 4 il
4. LJ2
Options:

S5317228%9. 1
SS3172230 2
553172231 35
SS3172232 4
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The ratio of radii of gyration of a circular disc to that of a
circular ring, each of same mass and radius, around their
respective axis is

1. V2:+/3
2. V3 :4/2

3 dsl2
4. V2:1
Options:

S53172292. 1
SS3172234 2
SS3172235 3
SS3172236. 4
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39T 3187 & R T garehR T (arfshenr) T afersor
ST TAUT 39 38T & IRA TAA GedHATT AR AT FAodr
o TR dold sl GRSHCT 35T T HeTaTc BT &

1. vV2:4/3

2. V3:42

3. 1:4/2
4. W21
Options:

553172293 1
5531722394 2
SS3172235 =5
SS3172236. 4
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A container has ‘N’ molecules at absolute temperature
‘T'. If the number of molecules is doubled but total kinetic
energy of the molecules in the container remains the
same, then the absolute temperature of the gas
molecules is

T Ti5
2. T/4
3. T/3
4. T/2

Options:

oo3172297. 1
53172298 2
553172299 o
553172300 4

Question Number : 75 Question Id : 55317275 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




PR AT A RA AT T w= ‘N’ a0 3 7fz st i wen 2
&1 SATT, Yo 9T H 7UL31T T ol ATt Foll HAA & al 7w
%ﬁaﬂaa‘“r'aﬁrqmmm-

T/5

T/4

3. T/3

4. T/2

Options:
Soolrz2z2ar. 1

SS3172238 2
S5317229%9. =5
5531722000 4

N =
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There are three infinite, uniformly charged planes (A, B,
C) kept parallel to XY planes as shown in figure. The
charge densities are respectively 0,2 o0 and -2 o on
them.

A Y
a
A y=2a
B 2a
¥=a
| = X
C 24 0 P

What will be the resultant electric field at point P?

O a

2e0

50 A
250 (=J)
5 ¢ P

ey

20
g A
4, == (—J)

Options:

5317250101
553172302 2
553172302 3
553172304 4

1
2
3
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3R H AT HTER X Y T & A dllef JaRAS
THAATT AT dT A, B, ARC @ IT | 5o W HQYU
Helcd A 0, 2 0 3R -2 0 8| faig P X aRoma faegd
& T IATT?

y=2a

y=a

C =20

1
2, =% (— )
3

4. oz l—1)

Options:
EEZ3172301.1

SS3172302 2
553172302 5
553172204 4
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Potential at a point P due to a charge of 5 x 108 C

located 10 cm away from given charge is 4.5 x 104 V.
What is the work done in bringing a charge of 6 uC from
infinity to that point P.

1. 27 x10<d

2. 0:27J

3. 2T %192 d

4. 0.0027 J

Options:

S532172305. 1
EL21723206 2
553172307 3
553172308 4
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5x 10 C 3raRr & 10 cm gt ) ¥y fordlt foig P w 3d
3T o HROT fde g fas1d 4.5 x 10° V & 6 u C 3Taer &t
31eict & feig P ok ST1et # fohar arr S fehcter glom?

1. 27% 107 )

2. 0.27 )

3. 27x10%)

4. 0.0027 J
Options:

55317230501
SS3172206. 2
553172207 3
553172208 4
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Two-point charge q and 4q are placed at x distance apart

iIn @ medium. The electrostatic force between them is F.
The two-point charges are brought in contact with each
other and then separated to the same distance x apart.
The force between the charges is now

1. 29116 F
2. 2o F

3. 16 F

4. 16/25F
Options:

553172209 1
5531722100 2
553172211 =
553172212 4
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al-foig 3maRr q AR 4q fRHT ATETH H TH g A U X W
U 81 31 2l & & (€ deg 9l F g1 31 &l 3raeit
I Th-gaY & HUF H o [T 3dall 8 ot x ) 3@ fear
SITelT &1 31d ST aledl oh sl & de g sl fehcelr 87

1. 25/ 16F
2. 25 F

3. 16 F

4. 16 /25 F
Options:

553172209 1
5531722100 2
553172211 =
553172212 4
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The capacitance of a parallel plate capacitor with area ‘A’
and separation ‘d’ between its plate is C. If a slab of

thickness ‘d/2’, area ‘A’ and dielectric constant k =4 is
introduced in this capacitor, the percentage increase in

the capacitance will be

1. 33.3%
2. 60%

3. 66.6%
4. 120%
Options:

55321722131
553172214 2
553172215 =5
553172216 4
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ferdl FATATR gefeanr Genmi, o qefessit &1 & ahe
A TefeaiT & Saquea d g, frafiar c & | afe sa
TR T geieah3il & o 8a%e A, Alers d/2 3R

R Gclieh 4 HT HI$ WA Ueiehr W@ & S argd
HYTR T UTRAT # glet dTell Jare 1 SfcrRradr 4 graf?

1. 33.3%
2. 60%

3. 66.6%
4. 120%

Options:

5531723121
553172314 2
5521723215 2
oo2172216 4
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Correct Marks: 4 Wrong Marks: 1
The effective resistance of a number of identical resistors
connected in parallel is x. When one of the resistors is
removed, the effective resistance becomes y. What is the
resistance of the removed resistor?

1. (xy)/(x+y)
2. (xy)/(y—x)
3. (y—x)

4. Vxy

Options:

5531723171
521723218 2
52172219 2
So53172320 4
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qred & GAIfSd QT 10 GaaH faitreh! 1 gardr 9faaer x
g1 ST S T U SR &1 geT T J1ar g, ar aieid
T GHTAT GTARIE y &1 SATAT & | §CIT ITT JTARIEe ol Uiaer
FATE?

1. xy)/(x+y)
2. (xy)!(y—x)
3. (y—x)

4 \fxy

Options:
ooolrz2zslr 1

S53172218. 2
5531722159 35
55317232004
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Correct Marks: 4 WrongMarks: 1
A galvanometer of resistance 20 Q) gives full scale

deflection when current of 1 mA is passed through it. It is
converted into a voltmeter by connecting a resistance of
4980 Q in series with it. The maximum potential
difference measured by this voltmeter is

1. 5mV
2. 005V
3. BY
4. 50V
Options:

SS31723210 1
S53172322 2
SS3172325. =2
553172324 4
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20 Q 9 T IS Aedard@e 1 mA URT Yared
STTet O Ut YT faetaor Sar & | 39, 39 |y Avh &
4980 Q F YTARTY I AT X, dlecHET A IRATad
[T IAT § | 39 dlecHIEY gaRT ATAT STel dTell HT8shdH

AR fhraar g2

L BN
2. 0.05V
3. 5V
4. 50V

Options:

531723211
553172322 2
553172323 o
553172324 4
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In the meter bridge equipment as shown in figure the
balance length AC, corresponding to null deflection of the
galvanometer is x. What would be the balance length if
the radius of the

wire AB is
doubled? Al R2

A W

G
1. %12 AL, ol ® -
2. X %
3. 2%
4. 4x
Options:

5531722251
SS3172326. 2
SS3172327. 3
SS3172228. 4
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IR H G2V IV iz W] o FA19T H Y [dam Bt &
TEART Hlolsl o als AC = x g1 AT $H AJ & d’ AB i
e 2t Y &Y

T HTeT T s | et

T ? B

1. %/ 2
2. X
3. 2%
4. 4x

Options:

553172325
553172326
EL2172327
oo3172328

e P

Cine Gutsion Option - No. Option Oriantation -vertical Tr- o2 OPuion Shulling: o isplay Question Humber : Yes Snle
Correct Marks: 4 Wrong Marks: 1

A paramagnetic material is kept in a magnetic field. The

field is increased till the magnetization becomes

constant. What will be the effect of magnetism when the

temperature is decreased?

1. Magnetization will increase

2. Magnetization will decrease

3. Magnetization may increase or decrease

4. Magnetization will remain constant

Options:

5531723291
553172330 2
553172331 3
52172322 4
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IS HeTeFaehg yeTy fohdll Taehr &1 & I@n | TFaehry
&Y H Iohcd oh [o10d 1ol deh Ja o hl 1T & | 1T H FHaAm
Blet O TUeehcd UR T F3ITd TSaTT 2

1. gFeehed H e gl ST

2. JFeehcd H FHHAT g1 ST |

3. qFaehcd H HAT 3T g1 bl & g of1 8T Fehell &

4. gFaehcd fAad G|

Options:
g A Ve I

553172330 2
553172331 =5
553172332 4
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Two particles ‘X" and 'Y’ having equal charges, after
being accelerated from rest through the same potential
difference enter a region of uniform magnetic field
perpendicular to it and describe circular path of radius r1
and r2. The ratio of the mass of X to that of Y is:
1. il e
2. (r1/r2)12
3. (r1/r2?
4. (r1/r2)3

Options:

531725321
553172324 2
553172335 o
553172336 4
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AT TR T caRa S I F RIS FUT X 3R Y
ferdlY Tehe AT TFaehTT &1 H 92T iteh A3 r1 R 12
& TR 9T 9 3T ol oo & | X & Y & GegATsi ol

AT FAT 872

1. FJ B

2 i ) e

B e f B

Yo/ )
Options:

553172235 1
553172334 2
553172335 =5
553172336 4
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A small bar magnet of magnetic moment M is freely hung
from the ceiling at a place where the horizontal
component of earth’s magnetic field is H. At equilibrium
the bar is horizontal and stationary. The ratio of change
in magnetic potential energy when it is rotated about the
vertical axis through its C.G from 0° to 45° and from 45°
to 90° will be

1. a2 1
2. Tial2
3. 11{H2Z-1)
4, (V2=1)1

SS3172337. 1
SS3172338 2
5531723389 =2
553172340 4
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AT ITECT M I i ofe Toaiah, faal TR TUTeT W, STaT
gl & YeehTd &1 T &ifcol Heeh H §, AFd ST H O |
oTCeHI §31T & | Ador 1 [Fufd 7 I8 o &ifdst 3R TR
€| ST $H TFaeh I 38 He 1l hg oA dlel FEATeR 38T
& TR gUTeT T AT § ar 0° & 45° deh 37T 45° & 90°
deh gUTel a1l H Jeeh1d (ATt Fall # glat arel IRl

T 3TeT9Td T BT 2
1. 221

P 12

3 Lf2—1]

4. (WV2-1):1

Options:

5531723371
553172338 2
5521723329 2
521723240 4

Question Number : 86 Question Id : 55317286 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A current of 0.2 A flowing through a coil is increasing at a
constant rate 0.4 A/s. If the power flows through the coll
is 0.4 W, the self - inductance of the coil is

1. 1.25H

2. 2DH

3. 6H

4. 10H

Options:
S5olrz2z41l 1

SS3172342. 2
553172343 =5
553172244 4
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fpe Foell A UaRT 02 AR URTH 0.4 A/s T |
gefar gl g1 e 39 Fzell ¥ Jarfed AFT 0.4 W &, AT sd

2 [ Y
FSoll T TAUhcd FATE?

1: 125 H

e 4&9H

3 S H

4. 10 H
Options:

55317234101
SS317234E2 2
553172342 =5
553172244 4
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If the vertical component of earth’s magnetic field is 6 x

10> Wb/m?. What will be the induced potential difference

between the rails of meter gauge train (the speed of train

is 36 Km/h)?

1. 2x10°' ¥

2. 6x10% ¥

3. 3x10* ¥

4. 9x104V
Options:

S53172345 1
553172346 2
SS3172347. 3
553172248 4
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Ife Jedt & JahId 19 & FLarey geeh 6 x 10° Wb/m? §
ar frdr #ex 3197 ¢ S 9eRAl & o WRd AT aR fhder
gl (Yo7 b1 31T 36 TohadT / TeT)?

1. 2x10'v

2. 6x10* V

3. 3x10* V

4. 9x10*V
Options:

552172245 1
553172346 2
553172347 3
553172248 4
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In a uniform magnetic field of induction B, a wire in the
form of closed semicircle AOCA of radius r’ rotates about
the diameter of the circle with angular frequency ‘o’ as
shown in figure. The axis of rotation is perpendicular to
the field. If the "
total 2]
resistance of /
the circuit is / : 0 i
‘R’, the mean ﬂ\
power
generated for o
period of

rotation is

1. Bnrre/2R

2. Bmrrw)/8R
3. Bmre)/2R
4. Brmro??/8R

Options:
531723491
553172350 2

L J

¥

Y

Pl

sssssssssss




553172351 =5
553172352 4
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3R H 22ATT HATAR, TFahIT Y0 B, & ToHdT Gashiy &1
ﬁﬁ?m‘r’a?a'amﬁaj%mﬁﬂagmaﬂéaﬂAOCA
ga & =T ¥ 9Ra F 3 o’ & goid FET R
EoTe 3787
TR 8 & //"”“
dFgad ¢ | /
afe aRag & r ﬂ\
el JTRIe 'R’ \
&, df 9fd gute ey
chicel Scood

ATEY UTad -

1. Bnrfe/2R

2. Bmrrw?/8R
3. Bmrrw)?/2R

L

:

¥

4. Bmrwn’)?/8R

Options:

5531723491
553172350 2
552172351 2
52172352 4
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During the propagation of electro magnetic wave in a
medium

1. Electric energy density is double of the magnetic
energy density

2. Electric energy density is half the magnetic energy
density

3. Electric energy density is equal to the magnetic
energy density

4. The electric energy density & magnetic energy
density are not related to each other

Options:

55317235321
552172354 2
52172355 2
oo52172356 4
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fepdly ATeTH A Taegd Faehid dler & FeroT & A
1.%@?:&@? Helcd E_I;EIEﬁ‘é:rjam"i eleicd ST GaTeAT BT § |
2. faegd Foll Tefed qaehid Sl Helcd I 3T EIAT & |
3. fdedd il Helcd YaehId Sl Helcd & SRTR Bl |
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Options:

55317235321
552172354 2
52172355 2
So523172356 4

Question Number : 90 Question Id : 55317290 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




The angle of a prism is 6. If the angle of minimum
derivation in Dm = (11 — 8), then refractive index of the
prism may be written as

1. y=tan (6/2)

2. y=tan (0)

3. 4 =cot(0)

4. u=cot(6/2)

Options:

5531723571
553172358 2
553172359 2
S52172360. 4
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fordT = a &1 TS 1o 6 £ 1 I 3redd#d 9T SI0T, D
= (- 0) &, O DoH & ATCIH & 31Tdashais I 5T ThR
Tad AT AT HhaT 8

Q

1. u=tan (0 /2)
2. U =tan(9)
3. u=cot(8)
4, u =cot(0 /2)
Options:
CEZ172357. 1
CE23172358. 2
521723549 2
EEZ3172360. 4
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An unpolarized light wave strickes an optically
transparent surface at an angle of 30° with the surface.
The reflected light is found to be linearly polarized. The
refractive index of the optically transparent surface is

1. 1/3
2. V3

3. 1/2
4. V312
Options:

S531723610 1
SS317238E. 2
SS3172363 3
553172564 4
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IS YA TehTer AT fohall Fehrere: Treel g56 & 30°
0T FAT §T T FICH g | TRrafcie Fehrer @ gfad
OrIT SATAT & | Teh1eid: IReeft AT &1 319acsiis &-

1. /%3
2. V3

% 172
4. J3/2

Options:

S5olr2sel 1
So3172362 2
o531723632 o
553172364 4
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A converging lens of focal length 20 cm and a diverging
term of focal length 10 cm are placed co-axially in contact
with one another. What is the total power of the
combination?

1. ~9D

2. -20D

3. 10D

4. -333D
Options:

553172365 1
5532172366 2
SS31723687. 3
553172368 4
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20 QT BIhE gdI T IS ATHART o F 10 FHAT Blhd g &
T 39Tl o/ & 9 H AT (W1 & | 59 TAIaTeT sl

ol &THAT 1 g7

1. =5D
2. -20D
3. 10D
4. -3.33D

Options:

oo3172565. 1
o53172366 2
553172367 2
553172368 4
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Two nicols are oriented in such a way that the maximum
amount of light is transmitted. Now, if the analyzer is
rotated by an angle of 45°, what fraction of maximum light
will be reduced?

1. 25%

2. T75%

3. 50%

4. 30%

Options:

5531723691
553172370 2
52172371 2
ELZ2172372 4
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ar el &f 38 gR AfATarafaa frar marg i
TR TH Yeh1er T ATET IRTTAT gl & | 34, IS favevsh
I 450 & 10T R GIoTd fohar S, aF HHTH Tehrer &
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1. 25%
2. 75%
3. 50%
4. 30%

Options:

5531723691
oo3172370 2
553172371 5
553172372 4
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When two beams of monochromatic light of frequencies
viand vz are incident on the surface of a photo sensitive

material. Photo electrons are emitted with maximum
kinetic energy E1 and E2 respectively. If E1:E2 = 1: n,
cutoff frequency for the material is

L. (nvisv2)/n+1

2. (nvi-v2)/n-1

3. nwvi-v2)/n+1

4. (nvi+v2)/n-1
Options:

55321722731
SS3172374. 2
SS3172375 3
553172376 4
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STa forefY SemTer Famer uard & gee W v AR v2 mafadt &
TehaUTT YehTRl o &l GT HTUcel hid & dl shael: E1 AR Ez

I f&H e TS FaiT arel BIelasl Soaclel 3cdtold ald
137 E1: E2 = 1: n &, A 9&Te T 3ecies Mg &-

1. (nvi+v2)/n+1

2. (nvi-v2)/n-1

3. (nvi-v2)/n+1

4. (nvi+v2)/n-1

Options:

531723721
553172374 2
553172375 o
53172376 4




Question Number : 95 Question Id : 55317295 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
If minimum wavelength emitted by an X-ray tube is 0.041

nm, the corresponding anode voltage applied to the X-ray
tube is (Plank constant, h = 6.63 x 10 34 J/m)

1. 15kV

2. 30kV

3. 45kV

4. 60 kV
Options:

SS3172377. 1
S53172378. 2
553172379 3
553172380 4

Question Number : 95 Question Id : 55317295 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

e e varH-Y AATeIehT GaRT 3caTold #gsas adar aed
0.041 nm &, A TFF-Y sAfelehl W AU d deed®d Tails
drecdr [ohdeil g ?

(TolTeh [adTeh , h = 6.63 x 10-3* J/m; SoleeTe U Taer
e=1.6X10"1° C)

1. 15 kV
2. 30 kV
3. 45 kV
4. 60 kV
Options:

5531723771
SS3S17237E 2
553172379 3
SS3172380. 4

Question Number : 96 Question Id : 55317296 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1 htpsexams




When an electron of a hydrogen atom is raised from the
ground state to an excited state then its

1. K.E & P.E both increase
2. KE & P.E both decrease
3. P.E decreases & K.E increases
4. P.E increases & K E decreases
Options:
CE=Z1722E1. 1
EEZ172=282. 2

SS3172385. =2
553172384 4

Question Number : 96 Question Id : 55317296 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

STel forelT §TSSToTel TRATY] # hig Solarciel YT (elaeicidl
HGEYT § fhdT 3AToTd HaEAT H FHlel Hdrl g, al 56
SolargTet bl

1. aifast Far 3R Rufas saT aiAi sedr g |
2. 31fast Far 3R Fufas ar et gedr & |
3. Rufas Foi gedr g 3R afasr e dedr g |
4. Feufast 39 gedr g 3R aifast Far aedrg |

Options:

5531723811
553172382 2
552172382 2
oo521723584 4

Question Number : 97 Question Id : 55317297 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




If A1 and A2 are the wavelength of the first member of the
Lyman & Paschen series respectively, then A1: A2 is

1. 72 Bl

2. 7:108

3. 13

4. 1:30
Options:

553172385 1
SS3172386. 2
SS3172387. 3
SS3172588 4

Question Number : 97 Question Id : 55317297 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

I ATTHA 3 gradeT Aol & uger Ge&T FT aeieed

AT M AT B, aT Az A2 B

1. 7:50
2. 7:108
3. 1:3

4. 1:30

Options:

5317238561
553172386 2
553172387 o
553172388 4

Question Number : 98 Question Id : 55317298 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




An intrinsic Germanium (Ge) semiconductor having 2.5 x
102° atoms per m? is doped uniformly by trivalent
aluminum at 1 ppm. If the thermally generated electron
concentration at room temperature is ni = 10 '"/m?3 | the
resulting electron concentration after doping at the some
temperature will be

1. 25%10% m?
2. 4% 10"
3. 25x10% py°
4. 4x1080 m3

Options:

5531723891
553172390 2
553172391 2
552172392 4

Question Number : 98 Question Id : 55317298 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

2.5 x 10%° oAT] 9fd Hie® arel fohdll st ST (Ge)
3ATeTsh &1 1 ppm W AEATSTT TogH I HIH garT
UhEHATA HIGH [haT IR—T g | a7 dIg 9 drdrg ATad
ST Figal ni = 1017 / m3 &, @ AT a9 O AlG &
qRATT IRUTHT Selaele TigdT fehdsi gIalr?

1. 255107

2 4x10%m3

3. 25x10¥m3

4. £x 107 m™

Options:

5531723891
552172390 2
5521723291 =
So53172392 4




Question Number : 99 Question Id : 55317299 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

For a CE transistor amplifier, the collector voltage is 8 V.

The voltage drop across a 800 Q resistor in the collector

circuit is 0.5 v. The base current is (take B = 24)

1. 26 mA
2. 62.5mA
3. 26 pA

4. 62.5 pA

Options:
EEZ317235932 1

5531723384 2
5531723385 =5
5531723396 4

Question Number : 99 Question Id : 55317299 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

ford Iafass Icaaid cifaiee Jatis & Torr Gangs
drecdr 8 V g1 Famgss 9Ruer & 800 Q & gfaers & a1t
9T fHauTd 0.5 v 1 ATUR YRTEET (B=24 SITA0):

1. 26 mA
2. 62.5 mA
3. 26 uA
4. 62.5 uA

Options:

521723921
521723294 2
o52172395 5
553172396 4

Question Number : 100 Question Id : 553172100 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




The maximum and minimum amplitude of an AM wave
are 90 mV & 30 mV respectively. The depth of
modulation is

1. €63
2. 04
3. 0.5
4. 06
Options:

S53172397. 1
SS3172398. 2
SS317239%9 3
553172400 4

Question Number : 100 Question Id : 553172100 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

ferdlY 3maTH AT foid et & Hf¥hdH AR =geTad ImarH
AT 90 mV HR 30 mV & HAIGele &I FIfe (ITETT%) B-

1. 05
2. 0.4
3. 8.8
4. 0.6

Options:

521723971
ELZ2172398 2
oc53172399. 5
553172400 4
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Section Marks: 200
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Sub-Section Number: 1
Sub-Section I1d: 5531723
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 553172101 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Let f(x) = x° |x] (x € R). The range of f(x) is:

1) 58
2) (-0
3) (= 0]
4)  [0,=)

55317240101
553172402 2
553172402 3
553172404 4

Question Number : 101 Question Id : 553172101 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

AT TITAT T3 f(x)=x5 |x| (x€R) & @4, f(x) T IRET &-
(1) (=, =)

(2) (-, 0)
(3) (-, 0]
4) (0, =]

Options:

5531724011
553172402 2
552172402 2
o52172404 4

Question Number : 102 Question Id : 553172102 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

https://exams.




LetA={xe’Z: i is an integer}

B={xeZ:x*-1=0}
C={xeZ:x=-1)", neN}

Then choose the correct option:

1) A, B and C are mutually disjoint sets

2) n(A-B)=3

3) AUBUC=ANBNC

4) A, B and C are equivalent sets but not equal
Options:

5531724051
5531724068 2
S53172407. 3
553172408 4

Question Number : 102 Question Id ;: 553172102 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
1 ;
A AT iR A = {(x € Z: = i )
B={x€Zx*—1=0}
M C={xeZ:x=(-1)",neN}g

de Fel fahed gfau:

(1) A, B3R C RER 38gad =< ¢ |

2) n(A-B)=3%l

3) AUBUC=ANBNCE

(4) A B3HR CJod @Hc<d &, W] IR o161 & |

Options:

553172405, 1
553172406 2
553172407 2
S52172408 4

Question Number : 103 Question Id : 553172103 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




Let R be relation defined on the set of natural numbers N
as

R={(X,y): X,y ENand x + y = x y}, then

1) R is reflexive and symmetric but not transitive

2) R is not reflexive but symmetric and transitive

3) R is an equivalence relation

4) R is reflexive and transitive but not symmetric
Options:

5531724091
SS3172410 2
553172411 3
553172412 4

Question Number : 103 Question Id : 553172103 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Atet fafarw fok wrehd FE&an3it & @Hzad N W Flg Haa8 R,
R = {(x,y):x,y € Nsitx +y = xy} GaART URHATNA g, I
(1) R IAJeT AR TATAT g, Wed HhHE el ¢ |
(2) R EAJCT A8l &, Wed AR IR GhiA® |
(3) R TH Joddl et gl

(4) R ¥aded 3R HHHS §, Woed TATAT 761 6|
cem175405 1

s53172410. 2

553172411 3
SS3172412. 4

Question Number : 104 Question Id : 553172104 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




m . 5 F ‘
Ifa+ B = = then the maximum value of sin a sin B is

i S
2) 2
3) -
4) 0
Options:

S53172412 1
553172414 2
553172415 =2
553172416 4

Question Number : 104 Question Id : 553172104 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A @ + B =~ & A1 Sin a Sin B FT HTARH A &:

(1)
(2)
(3)
(4)

Options:

5531724121
oo52172414 2
553172415 o
553172416 4

O IFE M) —

Question Number : 105 Question Id : 553172105 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
m 2T 41 .
Value of cos = cCOoS = cos T IS:

1) =

2 -
3 —
O

Options:

5531724171
553172418 2
5531724193 2
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S531724z20 4

Question Number : 105 Question Id : 553172105 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T 2 4T
COS - COS —-COS —- FTAT &

(1)

2 -3
3 -3
@ -

Options:

5531724171
oo2172418 2
553172419 o
553172420 4

Question Number : 106 Question Id ;: 553172106 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If tan"1x + 2 cot'x = 2?“ . then the value of x is:

1) V2
2) 3
3) 5
4) 6

Options:

S5olrz24z1 1
oo3172422 2
53172422 o
553172424 4

Question Number : 106 Question Id : 553172106 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

g tan'x + 2 cot 'x = 23—” g, dl X FT AT &

(1) V2
(2) V3
3) 5
4) V6

https://exams.



Options:

5531724211
S52172422 2
52172422 2
So3172424 4

Question Number : 107 Question Id : 553172107 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Solution of the inequality |[x — 3| < 1 is:

1) [0, 4]
2) [-2, 4]
3) (2,4)
4) (0, 4)

S53l172425 1
SS3172426. 2
SS3172427. 3
SS3172428 4

Question Number : 107 Question Id : 553172107 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

IATHAS x—3| <1 HEA &

(1) [0, 4]
(2) [-2,4]
3) [2,4]
(4) [0,4]

5531724251
SS3172426. 2
SS53172427. 3
553172428 4

Question Number : 108 Question Id : 553172108 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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If z is any non-zero complex number, then number of
complex numbers satisfying
Re.{(z+22)/(z—22z)}=1is

1) 0
2) 1
3 9
4) 3
Options:

S5317:2429. 1
553172430 2
553172431 =2
553172432 4

Question Number : 108 Question Id : 553172108 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

e 2 IS AR AT AT g Al {(z+22)/ (2 —22)} = 1
ol HISC e ATl HTHH TEATIHT T T &

(1) 0
2) 1
3) 2
4) 3

SS3172429. 1
553172430 2
553172421 3
553172432 4

Question Number : 109 Question Id : 553172109 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Let“P(n):2"< (1x2x3x....n)", then the least positive
integer for which P(n) is true is:

1 1
2} 2
3) 3
4) 4
Options:

553172432 1
553172434 2 r—




553172435 =5
553172436 4

Question Number : 109 Question Id : 553172109 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

AT T F “P(n):2"< (1x2x3x....n)" gl dFP(n) &
A Bt & ToIT #FeTcld EATcHS qUiieh g

(1) 1
2) 2
3) 3
4) 4
Options:

553172433 1
5532172434 2

553172435 3
553172436 4

Question Number : 110 Question Id : 553172110 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If A= [msx _0 ] (0 < x < 217) be a matrix such that AAT
0 sin x

1
= s [ then values of x are:

T 5m
e,
m i m m
2 =T
@ &
1 | ]
3w 7 !
(4) Ti_
Options:

553172437 1
553172438 2
553172439 =3
S53172440 4

Question Number : 110 Question Id : 553172110 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

https://exams.



afg A= [‘3”” Ux] (0 < x < 2m) Ueh 3Tcgg UAT & I

0 sin

N S
mw 3nm Jm ®m
o yaa
T T T T
(3) g:ErTrT
o T
(Zl) _E_i j;_

Options:
S5olrz24=37. 1

553172438 2
553172439 =5
553172440 4

Question Number : 111 Question Id ;: 553172111 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Let A be a 3 x 3 non-singular matrix such that adj A = adj
A, then the value of |A| equals to

1) 1

2) —1

3) + 1

4) -
Options:

55317244101
SS317244Z 2
553172443 3
553172444 4

Question Number : 111 Question Id : 553172111 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Aol oITTC foh A SIS Sgesh A0l 31egg TaT & o adj A = adj
A8 IO | A | &

(1) 1
(2) -1
3) +1
4)  +2

55317244101
SS3l72442 2
S53172442 5
553172444 4

Question Number : 112 Question Id ;: 553172112 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
If lg |2n = % (where n € Z7), then least such n is:
1) -2
2) 2
3) 3
4) -3

Options:

553172445 1
553172446 2
552172447 2
oo52172445 4

Question Number : 112 Question Id : 553172112 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A | - |Pn = £ (ST8T n=€ Z* &) & & T ~geTa# i n §

(1) -2
(2) 2
@) 3
4) -3

553172445 1
SS3l7244E 2
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S53172447. 5
553172448 4

Question Number : 113 Question Id ;: 553172113 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Let A be a3 x3 matrixsuchthat | A|]=4and AMAT=4 |
(where m € Z* and | denotes
3 x 3 identity matrix), then the value of mis:

1) 0
2) 1
3 2
4) 4
Options:

553172449 1
SS3172450 2
553172451 3
553172452 4

Question Number : 113 Question Id : 553172113 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

AT FITSTT foh A IS 3 x 3 37Tegg VAT E o [A] =4 [ F2T A
AT=41% (6T m € Z* & 3| T 3 x 3 dAcHHS 3HTSTE i
hFd I &, TTm FT AT &

(1) 0
(2) 1
) 2
4) 4

SS3172449 1
553172450 2
553172451 3
553172452 4

Question Number : 114 Question Id : 553172114 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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If log 2, log (2 — 1), log (2* + 3) are in A. P., then the value
of x is:

log 5
(1) log 2
log 2
(2) log3
3
@)
o
@
Options:
EEZ21724E2 1
553172454, 2
553172455, 2
53172456 4

Question Number : 114 Question Id : 553172114 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

I log2, log(2%-1), log (2%+3) Tk A.P. H & al x T AT &

log 5
(1) log 2
log 2
(2) log3
3
@)
5
@
Options:
553172453 1
553172454 2
553172455 2
553172456 4

Question Number : 115 Question Id : 553172115 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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The coordinates of the foot of perpendicular from the point
(1,3)on thelinex+y -2 =0 are:

1) (0, -2)
2) (0, 2)
3) (0, 3)
4) (0, -3)

553172457 1
SS3172458. 2
553172459 3
5532172460 4

Question Number : 115 Question Id : 553172115 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

@M x+y-2=0 W &g (1,3) & STed ITT ol & 91 & TS &

(1) (0,-2)
(2) (0,2)
3) (0,3)
4) (0,-3)

Options:

5531724571
552172458 2
52172459 =
S523172460 4

Question Number : 116 Question Id : 553172116 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The length of latus rectum of the ellipse 3x? + y?2 = 12 is:

(1)
(2)
(3)
(4)

Options:

RalIvals o




S5317246810 1
SS3172482 2
5531724832 5
SS3172464. 4

Question Number : 116 Question Id : 553172116 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

ErEIgd 3x%+ y2 =12 T ATfSeld I olelg &

1)y 12
2 =
@) =
4) 24

553172468101
553172482 2
S53172463. 5
SS3172464 4

Question Number : 117 Question Id ;: 553172117 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The distance between the lines 5x + 12y = 13 and 10x +
24y = B2 is:

1) 1

2) 12

3) 3

4) -1
Options:

553172465 1
SS3172486. 2
SS3172467. 3
553172468 4

Question Number : 117 Question Id : 553172117 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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J@I3HT 5x + 12y = 13 dUT 10x + 24y =52 F ST Hr gl &

(1) 1
2) 12
3) 3
4) -1

553172465 1
SS3l1724BE. 2
SS3172467. 3
553172468 4

Question Number : 118 Question Id ;: 553172118 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The distance of the point P (1,2,3) from the x - axis is:

(1) V11
(2) 12
3) V3

(4) V13

Options:

553172469 1
553172470 2
553172471 o
52172472 4

Question Number : 118 Question Id : 553172118 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

x 3eT § g P(1,2,3) Fredr g

(1)
(2)
(3)
(4)

Options:
553172469 1
553172470 2

LT




S53172471. =5
553172472 4

Question Number : 119 Question Id ;: 553172119 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If "Pr= 1680 and "C;= 70, then values of n and r are;
1) n=4,r=4
2) n=8,r=4
3) n=3,r=2
4) n=5r=3
Options:
CEE17247E
2172474,

1
2
553172475 3
S53172476 4

Question Number : 119 Question Id : 553172119 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Ife "Pr = 1680 IR "Cr= 70 g dl n 3R r & ATA g-
(1) 4, r=4
(2) 8, r=4
(3) 3, =2
(4) 5, r=3

Options:

SSolrz4drs.

o52172474

1
2
S53172475 3
553172476 4

ik ad el
1

Question Number : 120 Question Id : 553172120 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Coefficient of x” in the expansion (ax? + b—lx)"" is:
1) 1Cs abb
2)  1Csab b
3)  11Ce adh®
4)  11Cg abbs

Options:
531724771
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S53172478. 2
553172479 3
553172480 4

Question Number : 120 Question Id : 553172120 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

(ax? + =)' 3 THR F x7 T 0T §-

(1) 11Cs ab™®
(2) 1Cs a’dbP
(3) HCe.a’b°
(4)  1Ce abb®

Options:

Soolrz2dry. 1

So3172478 2

553172479 o

553172480 4

Question Number : 121 Question Id ;: 553172121 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If the circle x2 + y2 + 2gx + 2fy + ¢ = 0, touches x axis, then:

1) f2=c

2) g?=c

3) f2=g?=c
4) g+f=c
Options:

S531724810 1
SS317248E2 2
SS3172482 =2
553172484 4

Question Number : 121 Question Id : 553172121 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

https://exams.




gTE x 38T &1 ga x2+y?+2gx+2fy+c = 0 T AT & ol

(1) f=c¥]
(2) g*=cgl
)

3) fR=g2=cqgl
(4) gtf=c¥tl

55317248101
SS317248E2 2
SS3172483 3
553172484 4

Question Number : 122 Question Id : 553172122 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If f(x) = |sin x— cos x| (0 < x < 1/4), then the value of
f1(11/6) is:

(1) 18
(2) —1
3) —=
@

553172485 1
SS3172486. 2
S53172487. 5
553172488 4

Question Number : 122 Question Id : 553172122 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

https://exams.




Ife f(x) = | sin x—cosx|3|%‘f0¢:x<% E’Fl’fff(%)w%:

(1) 3
(2) _z
(3) *1;J3
(31) *-1;- 3

553172485 1
553172486 2
553172487 5
SS3172488. 4

Question Number : 123 Question Id : 553172123 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Two unit vectors making angle of 60° with vector a =i and

o~

angle of 90° with vector b=k are

1) O+ Djand Oi- Dy
(2)  (Jrand(-))i

1

(3) Qi+ (ziand Qi-(H)i
(4)  (iand (1)

Options:

5217248491
552172490 2
o523172491. 5
553172492 4

Question Number : 123 Question Id : 553172123 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




gfeerd = ¢ 600 FHFTRUTIATAEA b = k & 90° &1 hIoT
SaiTel aTel &1 ATAS A

1) O+ (DR Oi- Dy
2) 3R (-2i
B) Qi+ (HIARCO)- (R
@) QiR ()]

553172431 =2
553172432 4

Question Number : 124 Question Id : 553172124 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If 8 is the angle between vectors a and b such that d.b <
0, then

(1) 0<f<m
2) S<6<m
@) o0=<6<Z
4) 0<f<mu

Options:

553172492 1
553172494 2
553172495 o
52172496 4

Question Number : 124 Question 1d : 553172124 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




e gtddiRbpFAaFTRTevaTe Fa.b <ogar

(1) O<é6<m
2) S<é<m
(3) ogegg

4) O<o<nm

Options:

531724921
553172494 2
553172495 o
553172496 4

Question Number : 125 Question 1d : 553172125 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The equation of the plane passing through point (1,2, -1)
and parallel to plane 3x+ 2y + z=0is

1) 3x+2y+z=6
2) X+2y-z=0
3) Ix+4y-z=0
4) X+2y+zZ=6
Options:
531724971
553172498 2

553172439 =5
SS3172500 4

Question Number : 125 Question 1d : 553172125 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
foeg (1, 2, -1) T GIHT STl ATl AT AT 3x +2y+z=0F
HATAY AT Sl GHISIOT §

(1) 3x+2y+z=6
(2) X+2y-z=0
(3) x+4y-z=0
(4) X+2y+z=06




Options:

5531724971
52172498 2
52172499 =
S523172500 4

Question Number : 126 Question Id : 553172126 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Which of the following is NOT true for the given linear

programming problem?
Minimize z = 3x + 2y subject to constraints:

X+y=8

JX+EOYE15

x20,y20

1) The problem has no feasible region

2) The problem has feasible solution

3) The problem has no feasible solution

4) No point satisfies all the constraints simultaneously
Options:

55317250101
SS317250Z2 2
553172503 3
553172504 4

Question Number : 126 Question Id : 553172126 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




&Y g% YT shameer gaear gfdewei -
X+y=8

IX+dy <15

x=0, y=0

& Heddld z = 3x + 2y &I ThdH HhITAT & foT
rafaf@a & sia a1 a7 g 787 &-

(1) 58 GHEEAT 1 Hlg GHIA &7 Aei ¢ |
(2) TH AT HGEIA A G|

(3) S HHEA T s YHIA &l 716l o |
(4) =g &1 foeg @ef gidatl T Zorad §9 F HJSC g1
AT |

Options:

5531725011
553172502 2
52172502 2
o52172504 4

Question Number : 127 Question Id : 553172127 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Which of the following is NOT true for statement with if p,
then q7?

1) p is a sufficient condition for q
2) g is a necessary condition for p
3) p only if g

4) q implies ~p
Options:
Soolr2505 1
oo52172506 2

S53172507. =3
553172508 4

Question Number : 127 Question Id ;: 553172127 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Ife p, dr q arel HU & forv Feafef@a & @ sia g a8
87

(1)  qd% T p v 9T uiae= &
(2) p T q TF 3MaTF Ufdaa 8|
3) pFadIAEqEl

4) qffEa ~p &l

Options:

55317250561
553172506 2
553172507 2
52172508 4

Question Number : 128 Question Id : 553172128 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A particle is moving in a straight line and its distance (in
meters) from a fixed-point O on the line after t seconds is
given by s =13 + 5t2 + 7t + 9. Then its acceleration at the
end of 5 seconds is:

1) 30 m/ sec?

2) 40 m/ sec?

3) 50 m / sec?

4) 35 m/ sec?
Options:

5531725091
553172510 2
553172511 =
SS317251% 4

Question Number : 128 Question Id : 553172128 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




SIS SHUT Ush TIoT YWT H 3T T 8T § I7 39 @1 ¥ Bug
T fATRAC foeg 0 T t Hhs aTe 3T gU s = +5t2+71+9
(FHTeX ) @RI &F SATCT § dd 5 Ths o ol H ST ca ol ¢-

(1) 30 HreAss?
(2) 40 Hey/Ahs?
(3) 50 HeyAHs?
(4) 35 He/Ahs2

Options:

5531725091
S52172510 2
52172511 2
o52172512 4

Question Number : 129 Question Id : 553172129 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If a particle is projected with the initial velocity u making an
angle 6 with the horizontal, then maximum height attained

by the particle is given by:

1) (ussin26) / g

2) (u?sin28) / 2g

3) (u?sin?0) /g

4) (u?sin?B)/2g
Options:

5531725121
553172514 2
553172515 3
5532172516 4

Question Number : 129 Question Id : 553172129 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




afe; 1S HoT &St & 10T 0 aelled §U YR 39T u F Faiidd
fhaT STAT § A 39 0T 2@RT 9T &l 318 3fehad 3a18
fArafaf@a garr & 3 &-

1) (u%sin20) / g

2) (u?sin26) / 2g

3) (u®sin?0) /g

4) (U?sin?0)/2g
Options:

553172512 1
553172514 2
553172515 =5
553172516 4

Question Number : 130 Question Id ;: 553172130 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The magnitude of the resultant of two concurrent forces of

magnitudes A + B and A — B is VA% + 3B2.
The magnitude of the resultant when the angle between
forces becomes half is given by:

VAZ+3B2

2

1)

2) /342 + B2

3)  2VAZ + 3B2

V3AZ+RB2
a)
2
Options:

5531725171
553172518 2
553172519 =5
55317252004

Question Number : 130 Question Id : 553172130 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 4 WrongMarks: 1

qRUTTAT A+B 3 A-B arel &I HINAT Sall o GRUTAT ol &l
ORATIT VA2 + 3B2 § | S« 37 Fcll o s ol hloT 3T4T 8T
STAT & dd GIRUTTAT &el &l IRATT e i@d ganT fear

ST g

VAZ+3B2
2

1)

2) V3A2 + B2

3)  2VAZ + 3B?

V3AZ+RB2
4 -,
2
Options:

5531725171
SS3172518. 2
553172519 =5
5531725200 4

Question Number : 131 Question Id : 553172131 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If two forces F1 and F2 acting at a point are inclined at an
angle a, then the resultant of the forces is:

—

) F1+ F2in the direction of F1, whena =1 and F1 > F2

) F1 + F2 in the direction of F2, when a = 1 and F2 > F1
) F1 - F2 in the direction of F1, whena =0

4) F1 + F2in the direction of F1, whena =0

w N

Options:

5531725211
553172522 2
552172522 2
52172524 4

Question Number : 131 Question Id : 553172131 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1 hips:oxams




e Ueh feoieg O IR et aTel &l el F1 3R F2 T $I0T @
31 U & il 3T el ohT TIIRUTHAT &ef &-

) F1RTRmMAF+F2, Sda=n3RHAF1 >F28 |

(2) F2HIMAF1+F2, dda=n3IRAF2>F1% |
) FiRT T AF1-F2 ST a=0¢ |

4) Fif M AF+F2,Sda=0% |

Options:

5531725211
52172522 2
o53172522 o
553172524 4

Question Number : 132 Question Id ;: 553172132 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

IFf(x) = % + —— then f'(-2) is

1) -2
3
2) 3
3) 50
4) 0
Options:

S53172525 1
SS3172526. 2
SS3172527. 3
SS3172528 4

Question Number : 132 Question Id : 553172132 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
. 1
A f(x) = 5 + —Farf(-2) &
1) -2
@ -

G) 3
4) O

|"‘".p.|




Options:

5531725251
52172526 2
52172527 2
So53172528 4

Question Number : 133 Question Id : 553172133 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The function f (x) = x3 - 3x is

1) Increasingin (- =, - 1] U [1, <) and decreasing in (-1, 1)
2) Increasing in (0, <) and decreasing in (- =, 0)
3) Increasing in (1, <) and decreasing in (- =, -1)
4) Increasing in (-1, 1) and decreasing in (- =, -1] U [1, )

Options:

5531725291
553172530 2
553172531 3
52172522 4

Question Number : 133 Question Id : 553172133 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wf(x)=gx3-3x B-

(1) (-, -1U[1, ©) §F IUHT TAT (-1,1) & STHHT
(2) (0, o) H THHTT TAT (-0, 0) F FAHATT

(3) (1, w0) F TUAA dUT (-0, -1) H FIAHATA

4)  (-1,-1) F AT TAT (- =, -1] U [1, =) F gT@ATH

553172521 3
S53172532 4

Question Number : 134 Question Id : 553172134 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




f(x)==|x—-1]+ 3 has

1) Minimum value 3

2) Maximum value 3

3) Minimum value 3 and maximum value 4

4) Maximum value 3 and minimum value 0
Options::

553172532 1
553172534 2
553172535 =5
553172536 4

Question Number : 134 Question Id ;: 553172134 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

f(X)=—|x— 1] + 3T

(1) TgAdHA AT 3EI

(2) 3OS dH A 3 &l

(3) FgeIdA AT 3 3R HAT&hdA AT 4 B
(4)  TRFdH AT 3 IR et AT 0 &

Options:

531725321
553172524 2
553172535 o
553172536 4

Question Number : 135 Question Id : 553172135 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




1 .
If [ (lngx (mmz)dx x. f (x) + ¢, then f (x) is

(1)
(2)

(3)
(4)

Options:

S5olr2537 1
S53172538 2
553172529 5
553172540 4

Question Number : 135 Question Id ;: 553172135 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

afg [ (- Jdx=x.f(x)+c¥ aAfx)E

logx (IDQI)E

1
(1 ) log x
1
(2) giogx}z
3) -
(4) e*
Options:

SS3172537. 1
553172538 2
553172539 =3
553172540 4

Question Number : 136 Question Id ;: 553172136 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Most appropriate property of definite integral to evaluate
ffz[x]dx is

1) [ f(x)dx = when f (x) is odd
- fﬂa f(x) when f(x) is even

2) [, f@dx =[] f(x)dx + [} f(x)dx
3) [ f()dx = [ f(a+b—x)dx
4) [ f)dx =~ [ f(x)dx

Options:

5531725411
553172542 2
553172543 o
552172544 4

Question Number : 136 Question Id : 553172136 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

[2,(x)dx %1 AT foeprerst & fore Afaa waee =1 aad

. B 0,57 f (x)fawg &
(1) S fG)dx= {2 J, f)dx 5 f (x)

) [P fGdx= [ f()dx+ [ fFx)dx

3)  ['f()dx=["fla+b—x)dx
(4) f:f(x) dx=- [ f(x) dx

Options:

oo3172541. 1
553172542 2
553172543 o
553172544 4

sssssssssss




Question Number : 137 Question Id : 553172137 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

i .{j ) cos axx—zms bx equals to
(1) ==

2 ==

o o

(4) a -;EJ

Options:

553172545 1
553172546 2
553172547 =5
S53172548 4

Question Number : 137 Question Id : 553172137 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Lt cos ax—cos bx T
x—0 - Lo %-
a+ b2
i) =
2 =
2
(3) a%~ b
o
@
Options:

553172545 1
553172546 2
553172547 =5
S53172548 4

Question Number : 138 Question Id : 553172138 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

https://exams.




If p (X) and q (x) are two functions defined on R such that p
(x) < g (x) and both lim p (x) and lim g (x) exist for some
X—0 X—=d

‘a’ then
1) limp(x) 2limq (x)

2) lim p (x) <€ lim g (x)
X—=a X—=
3) imp(x) =q&limg(x)=p
X—a X—=a
4) limp (x) = limg (x),forallaeR
X—={ X—=a
Options:
5531725491
553172550 2

553172551 5
SS3172552 4

Question Number : 138 Question Id : 553172138 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

e R 9 & Bedat p(x) 3R q(x) 39 9hR IRATNT & T p(x)
< q(x) g dur fHar a & AT

Lt ) 1 edea § 3 Lf p() T T g A

X—=4d

M Moz Y@
@ Y opexs Moaw
@ Y opx=q3r M gx=p

@ o= Y g @iaeRF RT

Options:

5531725491
S52172550 2
52172551 3
553172552 4




Question Number : 139 Question Id : 553172139 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If x = a (tan 8 — cot ©) and y = a (tan 8 + cot 8), then =

dx
equals
1) sin 20
2) cos 26
3) tan 26
4) sec?0 — cosec?0
Options:

5531725521
553172554 2
553172555 3
553172556 4

Question Number : 139 Question Id : 553172139 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

qfe x=a (tan @ — Cot ) AR y=a (tan @ + cot B) g ar

dy
2 LB
(1) Sin26
(2) Cos 26
(3) Tan 26
(4) Sec? 9- Cosec? 6
Options:

5531725535 1
553172554 2
553172555 3
553172556 4

Question Number : 140 Question Id : 553172140 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

https://exams.



The integrating factor for the differential equation (cos™ vy -

X) dy' = /1 — y=dX IS

1) Ecns_ly

2) Esin_ly

3)

4y eV
Options:

5531725571
SS3172558. 2
5531725589 =5
5531725600 4

Question Number : 140 Question Id ;: 553172140 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
¥dehel HIHLOT (cos' y - x) dy = /1 — y2 dx & foIT

HHTRCIe 0T &

(1 ) Ecas_ly

(2) e sin_ly

3) vy

“4) €
Options:

5531725571
SS3172558 2
553172559 3
5531725600 4

Question Number : 141 Question Id : 553172141 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

https://exams.



Order and degree of the differential equation cos( Z—i) =1
are

1) Order = 1, degree = 1
2) Order = 1, degree is not defined
3) Order = 1, degree = - 1
4) Order is not defined, degree = 1
Options:
S531¥72561.1
553172562 2

SS3172562 3
553172564 4

Question Number : 141 Question Id : 553172141 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

mﬂmcos(j—i) = 1 FT FIr AR G &-
(1) &fc=1,ad=1

(2)  HIC =1, T IRHATNT Tl

(3) e =1, 9T =-1

(4) I IRHATNT ar, a1 = 1

Options:

5531725611
S52172562 2
oo2172562 5
553172564 4

Question Number : 142 Question Id : 553172142 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Area bounded by the curves y? = 3x and x? = 3y is
1) 1 sq. units
2) 2 sq. units
3) 3 sqg. units
4) 4 sq. units

Options:
5531725651
553172566 2 [——




SS3172567. 3
553172568 4

Question Number : 142 Question Id ;: 553172142 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

gshl y2 = 3x AR x2 =3y SaRT URECY &% ¢

(1) 1T FHS
(2) 2wEER
3) 3aEwR
(4) ATATHS

Options:

oo3172565. 1
53172566 2
553172567 2
553172568 4

Question Number : 143 Question 1d : 553172143 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The value of _]';l x2 — 7x+ 12 | dx equals to

(1 -
2) =
3 =
@4 —=

Options:

531725691
53172570 2
553172571 3
553172572 4

Question Number : 143 Question 1d : 553172143 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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[, | X3-Tx+12 | dx 3T FTeT SRS -

(1)
(2)
3 =
@ -3
Options:
5532172569
553172570

1
2
5531725713
SS3172572 4

Question Number : 144 Question 1d : 553172144 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Let f(x) = x3 + 9 be the given curve, then tangents to the
curve at x=3 and x=- 3 are:

1) Parallel

2) Perpendicular

3) Intersect at an angle 30°

4) Intersect at an angle 60°
Options:

5531725721
553172574 2
SS3172575 3
553172576 4

Question Number : 144 Question Id : 553172144 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




AT ol AT & f(x) = x3 49 w&rgéq;h g agx=33Rx=-
3 X dgh hT TIY IW@IT

(1) HAGKE |

2) ddg |

(3) T 300 X gfa=de Fdl 6 |
(4)  =IUT 60°R Yfdeoe Idl 6 |

Options:

5531725731
552172574 2
52172575 2
So3172576 4

—

Question Number : 145 Question Id : 553172145 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

If the lines 2x#l=i=zﬂ and§=¥=§areparallel,the
p and q are
=1 4=1
1) p—ﬁ,q s
2) p=3,947;
3) p=1,q=1
4) p=2,q=1
Options:

SS3172577. 1
SS3172578 2
SS3172579. =2
553172580 4

Question Number : 145 Question Id : 553172145 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

https://exams.




2 2 q 2
q -
1 1
1y  Psad=;
@ peg.ae,
(3) p=1,q=1
4 p=2,q=1

Options:

oo3172577. 1
53172578 2
553172573 o
553172580 4

Question Number : 146 Question Id : 553172146 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

(cosec x —2/v/3)/(tanx -V3), x # /3

It (x) = k.x=n/3

IS
continuous at x = 11/ 3, then the value of k is

Options:

521725811
52172582 2
Sc523172582 o
553172584 4

Question Number : 146 Question Id : 553172146 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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afe x = W(x) =

(cosec x —2/V3)/(tanx -V3),x #w/3

k., x=%n/3
dad g kT A &
(1
) -=
3
@ -,

55317258101
SS317258E 2
SS3172583 3
553172584 4

Question Number : 147 Question Id : 553172147 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

If each of the observations x1, x2, x3,...,Xnis increased by 2,
then variance of new observations

1) Increases by 2

2) Decreases by 2

3) Increases by 4

4) Remains unchanged
Options:

SS3172585 1
553172586 2
SS3172587. 3
553172588 4

Question Number : 147 Question 1d : 553172147 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




e YETOm X1, X2, X3,...,.Xn H H Tcdeh H 2 I I T ATl &
T 57T YaToil & JERoT H

(1) 2H gREgIACE |
2) 2&HTFATE AT &
3) A4HIREE G |
(4) oIS gRacT Tl aIaT g |

Options:

5317258561
553172586 2
553172587 3
553172588 4

Question Number : 148 Question 1d : 553172148 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

In a series of observations, standard deviation is 10 and
mean is 50. The coefficient of variation is

1) 30

2) 20

3) 50

4) 40
Options:

5531725891
553172530 2
553172531 =
553172532 4

Question Number : 148 Question Id : 553172148 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

YeTUT T Teh HWoll H Hloleh [aeielel 10 TATHART 50 7 |

(1) 30
(2) 20
3) 50
(4) 40




Options:

5531725891
552172590 2
52172591 =
S523172592 4

Question Number : 149 Question Id : 553172149 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A family has two children, the probability that both the
children are girls given that at least one of them is qirl:
1) 213

2)  1/3

3y 12

4) 3/4
Options:

553172593 1
553172594 2
553172595 =5
553172596 4

Question Number : 149 Question 1d : 553172149 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

foreY aIRaR A St I=d 8 | ST 4T WIidehdT & Toh aledl s
crsfehar 8, Stafe & § o 31 #gaas us oI 87

I

9% 1y

3 142

4) 3/4
Options:

5531725392 1
553172534 2
SS3172595 =2
553172596 4

Question Number : 150 Question Id : 553172150 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Two events E and F are said to be dependent, if
1) P (ENF) = P(E). P(F)
2) P (ENF) = P(E) + P(F)
3) P (ENF) = P(E). P(F)
4) P (ENF) = P(E) + P(F)
Options:
5531725971
553172598 2

5531725939 =
SS3172500. 4

Question Number : 150 Question Id : 553172150 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

al geT0 E 31X F 3nf3g Fer sar g afe
(1) P(EnF) = P(E).P(F)

(2) P(EnF) = P(E)+P(F)

(3) PENE) # PIEVLPF)

(4) P(EnF) = P(E}+P(F)

553172599 =5
553172600 4
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Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 5531724
Question Shuffling Allowed : Yes

Question Number : 151 Question Id : 553172151 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 4 WrongMarks: 1
The principles and criteria for scientific naming of plants are
provided by

(1)  IUCN
(2)  UN

(3) ICBN
(4) ICZN

Options:
EEZ1726801. 1

SS3172802. 2
5531726802 3
553172604 4

Question Number : 151 Question Id : 553172151 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Gt & J3ATfeteh ATHSRIOT & fAgHTd 3R AEs fhds garT
geTd T I -

(1) A TA

(2)  gua

(3) AN TA

(4) W ASTA

Options:

531726011
53172602 2
553172603 o
553172604 4

Question Number : 152 Question Id : 553172152 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Which of the following statements regarding Bryophytes is
incorrect?

(1)  They lack true roots

(2) Main plant body is haploid and termed
gametophyte.

(3) Male sex organ is called antheridium
(4)  The antherozoids are uniflagellate.

Options:

5531726051
553172606 2
52172607 2
2172608 4

Question Number : 152 Question Id : 553172152 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

STAIHISCH & T H [oldaITol b H H Plel AT HUA ITd &7

(1) 3T arEaidss STl ST AT BT & |

(2)  FET Otur 3O BT & 3R 5 geaAhigfaie,
FET ATATE |

(3)  FX olfdieh 33T I G gl SATAT S |

(4) AU UHRATTHE §IA & |

Options:

5531726051
S53172606 2
S52172607. 2
oo2172608 4

Question Number : 153 Question Id : 553172153 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




Which of the following is true in a vertical section of
dorsoventral leaf?

(1) Mesophyll is undifferentiated.
(2) Mesophyll is differentiated into palisade on one
side of leaf and spongy parenchyma on the other

side.
(3) Palisade is present but spongy parenchyma is

absent.
(4) Spongy parenchyma is present, but palisade is
absent.

Options:

5532172609 1
521726810 2
5532172611 o
553172612 4

Question Number : 153 Question Id ;: 553172153 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

HERYSSY (SrEfdgen) Il & FEalER Fic & [ava &
ffaf@a & @ Sid a1 F99 §T 872

(1) guiAEIas H AT gIaT ¢

(2)  GUTAEAIA, Tel & U ol Uferdis 7 3R gl
R T9o1 RehlgAT H [AHITSd Il © |

(3) Ufcrds 3ulTyd 8T § dfehed TSI RISl
e g 81

(4) TSI QRIS AT 3UTEUT BT ¢ offche Afeldis
HTITEUT BT 5 |

Options:
53172609, 1
53172610 2

553172811 =5




S53172812 4

Question Number : 154 Question Id : 553172154 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Which of the following is NOT true about normal ECG?

(1) P wave represents depolarization of atria.
(2) T wave marks the beginning of systole.
(3) QRS complex represents the depolarization of

ventricles.
(4) T waves is usually bigger and wider than P
wave.

Options:

5531726121
552172814 2
52172815 =
So2172616 4

Question Number : 154 Question Id : 553172154 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

[T TT H & i AT U A AT SIS & IR H Tl
ARl ¢ 7

(1) o aer 3ifeig & fayaor & gfafafca s g
(2) < AT g Hepdel T YT i FAfEeTd HLc
el

(3)  FIIRTH iscolerd ferd o fagaoT s
giafaica axarg|

(4) & AT HAAR WA GET A 31 iR TS grar el

Options:

oo3172612. 1
o53172614 2
553172615 o
553172616 4




Question Number : 155 Question Id : 553172155 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
What are the chances that progeny of a colour-blind

woman and a normal man, would have normal color vision?

(1)  100%
(2) 25%
(3)  50%
(4)  75%

Options:

5531726171
553172618 2
5531726193 2
2172620 4

Question Number : 155 Question Id : 553172155 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

U JUITe ATger 31X U WA STad T Odled 7 TAY
33T TTSC BleT T Tohciail GHTIAT &7

(1) 100%
(2) 25%
(3) 50%
(4) 75%

Options:

5531726171
SS52172618 2
52172819 2
So2172620 4

Question Number : 156 Question Id : 553172156 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Which of the following is responsible for graft rejection?

(1)  Cell mediated immunity

(2)  Innate immunity

(3) Leukocytes and the cellular barriers
(4) Interferons

Options:
S5olr2ez2l 1

SS3172B22 2
SS3172622. 3
553172624 4

Question Number : 156 Question Id ;: 553172156 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

39YUT T HEAHR el o [oIT SdH H il ITRERT 67

(1)  RITART ACIEAAT YTaTeTr
(2) HgT/IAeHATT FTaLET
(3)  93d iRt 3N FIAFT a0t

(4) ScTh

Options:

oo3172621. 1
S53172622 2
553172623 o
553172624 4

Question Number : 157 Question Id : 553172157 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Which of the following was NOT a constituent of experiments
conducted by Miller in 19537

(1)  CsHes
(2) H2
(3) NH3

(4) Water vapours

https://exams.




Options:

5531726251
SS2172626 2
2172827 2
Co3172628 4

Question Number : 157 Question Id : 553172157 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

1953 H fAR garT [T a1 gaen A fAFafai@a & 8 Sia ar
Ush E1Ceh dAel UT7

(1) CH;,

(2) H,

(3) NH,

(4) STrarsy

Options:

5531726251
SS2172626 2
2172827 2
Co3172628 4

Question Number : 158 Question Id : 553172158 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Which of the following animals has false coelom?

(1) Apis

(2) Nereis

(3) Ascaris
(4) Taenia

Options:

521726291
2172620 2
oo2172621. 3
53172632 4

Question Number : 158 Question Id : 553172158 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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frAfafad 7 & 58 v Sied H MR SgareT 8lc & 2

(1) ©fag
2) T
(3)  TFHRE
4) &faar

5531728291
SS317268200 2
553172821 3
SS3172832 4

Question Number : 159 Question Id : 553172159 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A plant exposed to higher levels of CO2 compared to
ambient levels showed higher rate of photosynthesis. But

this did not happen when light increased. What does it
indicate?

(1) CO:z is limiting factor.

(2) Light is a limiting factor

(3) Light and COz2 are limiting factor.

(4) Increased light caused photoinhibition.

Options:

531726321
553172624 2
553172635 o
553172636 4

Question Number : 159 Question Id : 553172159 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




T I T CO, F IRAM TR T TeleAT H ITTAR TR I F311T
SToTd U g ThT2T T2oIN0T T ITTaY &7 1 ST &1 vt
TehTT & Scel OX UAT A6l 81T ¢ | TE AT S2ATaT g ?

(1) CO, HrHATRRI FRb g |

(2) YT T IATHRI FRE ¢ |

(3)  9ehTr 3R CO, HATHY FRF & |
(4)  TIRIRA SEeT H TEhIRM ITARTEH §3T|

Options:

55317263321
553172634 2
552172635 2
21726326 4

Question Number : 160 Question Id : 553172160 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Which of the following cannot be attributed to Darwin?

(1) Description of finches on Galapagos islands
(2) Heritability of variations
(3) Speciation due to mutations

(4) More offsprings from Individuals adapted to
their environment

Options:

521726371
21726838 2
So53172629. 5
553172640 4

Question Number : 160 Question Id : 553172160 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




farafaf@a # & e fore s1fas s & ag far ST asarg?

(1) 3remareny edrdt ) i & gule

(2)  Taf=AdT3N H¥ TeTartAhar

(3)  3caRdciel & HRUT glel ATl TSATIISHTOT

(4)  379el ATATAROT & 9 3fejhioid g5 cafsedn &
31T =

5531728371
SSS1726838 2
553172839 3
553172640 4

Question Number : 161 Question Id : 553172161 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The treatment of snakebite by antitoxin is an example of

(1) Artificial acquired active immunity
(2) Artificial acquired passive immunity
(3) Naturally acquired passive immunity
(4) Specific natural immunity

Options:

oo3172641. 1
o53172642 2
553172643 o
553172644 4

Question Number : 161 Question Id : 553172161 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




IS T 9IATAY ZaRT 3TAR THHehT Ueh 38 0T &7

(1) TI# SUTRTd Gishd TicIaT

(2) A Ul ATSHa gfawe

(3)  wamsTiash &9 & 3uTlold fiTSshar wicReT
(4)  faferse grepfae gfaeT

Options:

5531726411
553172642 2
552172642 =
52172644 4

Question Number : 162 Question Id : 553172162 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

What happens during the metaphase stage of cell cycle?

(1) Chromosomes are moved to spindle equator.
(2) Centromere splits and chromatids separate.
(3) Pairing between homologous chromosomes
takes place.

(4) Crossing over between homologous

chromosomes takes place.

Options:

S5olrZ2e4ds 1
oo2l72646 2
o53172647. o
553172648 4

Question Number : 162 Question Id : 553172162 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




I AT Tk hT AEATTEAT & SIRTT FATBIAT 67

(1)  Forga FUse FE@r 1 3R T A & |

(2)  IUREETSTg FAHITSIA &Y ST & 3R rEoRE
HATMBI AT E |

(3) WA IURTHT o &I JIAA BT & |

(4) G JURGET & e Sitet faferaa giar &

5532172845 1
SS317264E. 2
SS31726847. 3
SS3172648 4

Question Number : 163 Question Id : 553172163 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Organisms that can tolerate and thrive in a wide range of
temperature are called

(1) Stenothermal
(2) Poikilothermic
(3) Homeothermic
(4) Eurythermal

Options:

521726491
2172650 2
oo53172651. o
53172652 4

Question Number : 163 Question Id : 553172163 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




aT9HTeT & cAT9eh Y i geT el arel 3 3TH a9t arer
STat &l AT gl JATaT 87

(1)  delamdr
(2) faweandy
(3) AT
(4)  gyamr

[
Options:
553172649 1
553172650 2
553172651 2
S52172852 4

Question Number : 164 Question Id : 553172164 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Which one of the following pairs incorrectly matches a

hormone with its chemical nature?

(1) Epinephrine — Steroid
(2) Parathyroid — Peptide
(3) Cortisol — steroid
(4) Thymosin- peptide

Options:

521726521
52172854 2
So53172655 o
53172656 4

Question Number : 164 Question Id ;: 553172164 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




fFTofed & & Tl Yhia & AT gTAA 1 il A1 T
JIH S e g7

(1) ufu=AThe - &I
(2) YUUARRES - U3
(3) =IfcHTS - TTS
(4) UEAIRAT- 9<Es

553172852 1
5531726854 2
SS31726855 3
S5S31726856. 4

Question Number : 165 Question Id : 553172165 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

In lac operon, operator sequence/region binds with

(1) repressor protein to switch off the structural
genes

(2) repressor protein to switch on the structural
genes

(3) regulatory gene to switch off the operon

(4) iInducer to switch on the operon

Options:

521726571
ELZ2172BEE 2
So53172659 5
553172660 4

Question Number : 165 Question Id : 553172165 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




oleh TRl &, TR HeTsha / &1 fohaieh TIY ST 87

(1) TTTATCHS Sile] ol 6 el & [olT SHARIY
QT & Q1Y
(2)  ETEACHS ST P YE A & AT SHABRT

QIETeT & Ty
(3) 3O &Y §¢ A & [0 AIATHF ST & Ty

(4)  3RIA FI Y& FA & T RF & ATy

Options:
EEZ17268E7. 1

SS31726B58. 2
5531726859 3
SS3172660 4

Question Number : 166 Question Id : 553172166 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The most abundant protein in animal world is

(1) Keratin
(2) Collagen
(3) Pepsin
(4) Trypsin

Options:

5531726611
53172662 2
S521726E2 2
oo2l17z2664 4

Question Number : 166 Question Id : 553172166 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




Se3T I gfear H o TG AT H Hied T WA 87

(1) e
(2)  Prelaled
(3) ufcHe

(4) Rega

55317286101
SS3172BBE. 2
SS3172663. 5
SS31726864 4

Question Number : 167 Question Id ;: 553172167 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The title of book written by Carolus Linnaeus on systematics,
was

(1) Systems of Nature
(2) Systematica Naturae
(3) Systema Naturae

(4) The Natural System

Options:

53172665, 1
S53172666 2
553172667 o
53172668 4

Question Number : 167 Question Id : 553172167 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




Frerd Tofead carT gefientor e o1 forel a8 G
i =T 2am?

(1) oA ITE AN
(2) TORATH A=l
(3) oA aATh

(4) & e A

Options:

5531726651
53172666 2
SS21726BE7. 2
CLZ2172EEE 4

Question Number : 168 Question Id : 553172168 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
In which type of interaction between two species, one is
harmed and other remains unaffected?

(1) Amensalism
(2) Commensalism
(3) Competition

(4) Predation

Options:

oo3172669. 1
53172670 2
553172671 3
553172672 4

Question Number : 168 Question Id : 553172168 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




ar STfct & ofer fohe YR shr OREaT fohdm & Teh ol ofehdTed
Bl & 3R g 39Iiad T 87

(1)  3rEgHITSIdr
(2) wEAfSar
(3) wigEader

S

(4)  gTETOT

o T

Options:

531726691
S53172670 2
553172671 3
53172672 4

Question Number : 169 Question Id : 553172169 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A pregnant female is checked for Rh blood group to avoid

erythroblastosis fetalis. This condition may occur, when

(1) Mother is Rh* and sensitized to Rh™ and baby

is Rh".

(2) mother is Rh* and is sensitized to Rh™ and the
baby is Rh".

(3) mother is Rh™ and is sensitized to Rh™ and the
baby is Rh*

(4) mother is Rh™ and is sensitized to Rh+ and the
baby is Rh™

Options:

5531726721
553172674 2
553172675 2
SS2172676. 4

Question Number : 169 Question Id : 553172169 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




URYTCIRC T 0T & T & ToIT Ueh a187acil Afgell &

IRU Tehcd HHE T i1 1 STl o | I8 i a9 gt dehell &

Ela'_
(1)
(2)
(3)
(4)

S53172872. 1
SS3172674 2
SS3172675 3
SS3172676. 4

AT Rh* § 31X Rh- 1 garmied g 3R R Rh- &
AT Rh* & 3R Rh &7 ganfed & 3R RIRr Rh- &
AT Rh- & 3T Rh* T ganfee & 3T RAf Rh* &
AT Rh" & 3R Rh* & ganfga & 3R Y Rh- B

Question Number : 170 Question Id : 553172170 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A Barr body is seen in body cells of a human female due to
presence of two X chromosomes. During a test for cellular

abnormality in a male, the technician observed one Barr body

present in that male’s body cells. The genotype of this
individual will be

(1)
(2)
(3)
(4)

SS3172877. 1
SS3172678. 2
SS3172679. 3
S5E21726880. 4

XYZA47
XXY.47
XXX.47
XY.46

Question Number : 170 Question Id : 553172170 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




&l X IUTHAT T IYTEATA & FHRUT Teh Agell o AT T HIARTIHT
H SR T Sl STl | Uk qRY & HIRIHIT IJTAIAT & [T
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(1) XYZA7
(2)  XXY.47
(3)  XXX.47
(4)  XY.46

Options:

S53172677. 1
217278 2
So3172679. o
553172680 4

Question Number : 171 Question Id ;: 553172171 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Which of the following biocontrol agents can be used to
control aphids?

(1) Dragon flies

(2) Trichoderma
(3) Lady bird beetle
(4) Bacillus thuringiensis

Options:

oo3172681. 1
53172682 2
553172683 o
553172684 4

Question Number : 171 Question Id : 553172171 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




UThsd &l [aRd i & fov e # 8 e =
Safead T & & H SEAHTS AT AT Hehdl &7

(1)  S31eT AFET

(2)  crsHIsAES
(3) ASTTS &

(@) T YRR

Options:

5531726811
553172682 2
5531726832 2
552172684 4

Question Number : 172 Question Id : 553172172 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Which of the statement is incorrect regarding 3- DNA?

(1) At each step of ascent, the strand turns 36°
(2) 12 base pairs are involved in one full turn

(3) The pitch would be 34 A°
(4) The raise per base pairs would be 3.4 A°

Options:

S5ol72eER 1
So3172686 2
S53172687. o
553172688 4

Question Number : 172 Question Id ;: 553172172 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




B -3TAT & G H leT-AT H YT ITold &7

(1)  3RIEUT & Ycdeh TROTH, ¥5 36° A&
(2) U qot gulel 7 12 &R J7A AT g &

(3) o= 34 A°grelr

(4) wfd aTR gowm A efer 3.4 A° gl

Options:

oo3172685. 1
53172686 2
553172687 o
553172688 4

Question Number : 173 Question 1d : 553172173 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which of the following is an In-situ conservation site where
tourism is allowed but grazing is not permitted and its
boundaries are circumscribed by legislation?

(1) National Parks
(2) Zoological Parks

(3) Sacred Groves
(4) Wildlife Sanctuaries

Options:

5531726891
oo2172690 2
553172691 o
553172692 4

Question Number : 173 Question Id : 553172173 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




AT & 9 i 91 s TF:T2UTe TIETUT TUT & STgT Jde
1 ITATA & oifehet =TS Y 3reTATA 78T & 3R SHhT WA
el GaNT AR foar Srar §7

(1) I~ 3eare

(2)  @rfor 38T

(3) dfagad

(4) TISIT HHIRTY

Options:

531726891
553172690 2
553172691 2
553172692 4

Question Number : 174 Question Id : 553172174 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

With respect to Genetic code which one of the following
statements is incorrect?

(1) 61 codons code for 20 amino acids.
(2) Genetic code is Universal.

(3) AUG acts as an initiator codon.

(4) Genetic code is degenerate.

Options:
S5olrZ2e9s 1

553172834 2
SS3172635 5
SS3172636. 4

Question Number : 174 Question Id : 553172174 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




AR FHe & T H A>T H & FleT-AT FHYT Told
87

(1) 20 3= 31Fll & fIT 61 FISI He HId 8|
(2)  3TIafRI FHe Ffadd g

(3)  AUG Ue URTFHSF FIsled & §9 H 1T Il o |
(4)  3MMeIafRAF FHe TscU#H gl

Options:

5531726921
552172894 2
52172895 2
S53172696 4

Question Number : 175 Question Id : 553172175 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The most significant advantage of MOET is

(1) It can be used in variety of farm animals.
(2) It results to quality of meat.

(3) The genetic mother is available for another
rounds of super ovulation.

(4) It involves surrogate mother.

Options:

521726971
21726898 2
So53172699 5
553172700 4

Question Number : 175 Question Id ;: 553172175 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




MOET T He& HgcaquT ofls T &7

(1) 3@ 39T faffiest YehR & HYaTT & SAreTert
H Pararasar gl

(2)  HY AT I JUTEHT FHITAT &Il o

(3)  3MeTATRIeh AT R HSIcHdN & Teh HR R & faTw
UGS glar o |

(4) SEH HIESHT AT (T FHSY) ATAT glciT ¢ |

Options:

5531726971
21726898 2
53172699 o
553172700 4

Question Number : 176 Question Id ;: 553172176 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Which of the following represents the major pigments

present in Red algae?

(1) Chlorophyll a, b

(2) Chlorophyll a ,c , fucoxanthin
(3) Chlorophyll a, d , Phycoerythrin
(4) Chlorophyll a, b, fucoxanthin

Options:

531727011
S53172702 2
5531727032 3
553172704 4

Question Number : 176 Question Id : 553172176 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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St T

Options:

5531727011
553172702 2
SL52172702 2
52172704 4

Question Number : 177 Question Id : 553172177 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Epidermal tissue system consists of

(1) Epidermal cells only

(2 Epidermal cells and stomata only

(3 Epidermal appendages only

(4) Epidermal cells, stomata, trichomes and hairs.

™

Options:

S5olrY2705 1
So3172706 2
S53172707. 3
553172708 4

Question Number : 177 Question Id : 553172177 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




STEdcadl 3de dF H FAT AMAAT 8l 6 7

(1) ool SIEIcTAT HITARTT
(2)  hdol SIEdcadr HITAHT T Y

(3)  haol STEdcadr 34TeT

(4) SEIcTT HIASIT, I, TEHIH IR A

SS3172705 1
S5E172706. 2
SS3172707. 3
553172708 4

Question Number : 178 Question Id : 553172178 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Which of the following statements regarding nucleosomes is
incorrect?

(1) A typical nucleosome contains 200 bp of DNA

helix.

(2) Nucleosomes in chromatin are packed to form
chromatin fibers.

(3) Nucleosomes constitute repeating unit of

chromatins.
(4) DNA is wrapped around positively charged
histone hexamer to form nucleosome.

Options:

5531727091
553172710 2
5521727112
oo3172712 4

Question Number : 178 Question Id : 553172178 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




= fFolardIH & HaW #H [Aeaiioi@d H & Slef AT U ITeld o7

(1) U UrEiveh wgfaerdard H SITT gielerd & 200
ddarga gl

(2) A H GfFoaEH, HIARCT B delled
fore 9 | &1

(3)  TYIFIATEH, AT T IR SHIS T ISeT
A8

(4) FgiFArEH & AT & [T STUa.U tercHs
IafAa R g R & aRi 3R foger w|arg |

5531727091
SS31727100 2
5531727113
SS3172712 4

Question Number : 179 Question Id : 553172179 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which of the following statements about Multiple Ovulation
Embryo Transfer Technology is incorrect?

(1) Cow administered with FSH hormones.
(2) Super ovulation leads to production of 6-8
eggs.

(3) Eggs are fertilized In-vitro.

(4) Fertilized eggs at 8-31 cells stage are

transferred to surrogate mother.

Options:

5531727121
553172714 2
552172715 2
oo2172716 4

Question Number : 179 Question Id : 553172179 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical ‘




Correct Marks: 4 WrongMarks: 1

Sl 3TUSICHIT $0T FATATeROT Fe TR & IR A far=fafad
H U i | YT el ¢7

(1) 3T I UH.TH.UT. gHAfT a1 AT & |

(2)  |UX SIHT U 6-8 3731 H 3cUGsT BIAT ¢ |

(3) 37t & v sa-Taer glar g

(4)  8-31 T HITAHT HIEAT H TANAT ST & H1@
SR ATAT H gEaTdiRd T ST g

S53172712 1
553172714 2
SS3172715 3
SS3172716. 4

Question Number : 180 Question Id : 553172180 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The function of leucoplast is to

(1) Give colour to the flowers and fruits
(2) Help in photosynthesis
(3) Store nutrients like oil, fats and carbohydrates
(4) Help in respiration.
Options::

SS3172717. 1
S5E172718. 2
SS317271%9. =2
S531727z2004

Question Number : 180 Question Id : 553172180 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




CTHITATES T AT 1 &

(1) el 3R Fell &Y 3T &t

(2) ORI HIAYUT H HETIAT el

(3) ad, 39 3R FElgEse W YN dcdl &l HAGT
AT

(4) 23"t H HETIAT AT

Options:

5531727171
553172718 2
552172719 2
EE2172720. 4

Question Number : 181 Question Id : 553172181 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Habitat fragmentation increases

(1) Sustainable population size

(2) Surface area or edge

(3) Ability of species to disperse

(4) The proportion of time spent in mating

Options:
SSolr27zl 1

SS3l172VEE 2
SS3172723 3
553172724 4

Question Number : 181 Question Id ;: 553172181 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




99T Q@S 1 derarg?

(1)  aRoT FATEAT HTHR

(2)  |dg &7 a1 fhaART

(3) B - 3R AT o ToIT ATTAAT T &TH AT
(4)  |HETH AT FHY I IHeIUTd

Options:

5531727211
oo3l172VEE 2
53172723 o
553172724 4

Question Number : 182 Question Id ;: 553172182 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Why yellow coloured fruits and vegetables are considered to
be good food for eyes?

(1) They contain carotenoids for the development
of opsin population.

(2) They contain vitamin A for the development of
retinal pigment.

(3) They contain carotenoids for the development
of rhodopsin.

(4) They contain carotenoids and vitamin A for the

development of opsin protein.

Options:

5531727251
SS2172726 2
oo3l172VEY. 3
53172728 4

Question Number : 182 Question Id : 553172182 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




drel 3T & el 3T ieatal &1 3@l & T 3T Hiad a1

HATAT SATAT &7

(1) 38 3T S &7 & IRt & fov
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(2) 395 eIl gule & e & fov [eaf@a-v
BT gl

(3) 3aH ASIHA & TP & ol HRICAas aid o |
(4) 395 3HiCEeT 9T & foww & fow Fifearas
IR AeaAa v gl

SS3172725 1
SSS172726 2
SSE172727. 3
SS317272E8. 4

Question Number : 183 Question Id : 553172183 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Which of the following is an example of divergent evolution?

(1) Wings of butterfly and wings of birds
(2) Forelimbs of cheetah and human
(3) Eyes of octopus and mammal

(4) Flippers of Penguin and Dolphin

Options:

Soolr2ize 1
S53172720 2
553172721 3
553172732 4

Question Number : 183 Question Id : 553172183 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




eafaf@a # @ Fi9 v 399y ST &1 358IoT 87

(1) Tadelr & 9@ 3R gferar & 9@
(2)  =dr 3R AT & 3TN HT T
(3)  3fTererad 3R TaAurRdT T 3
(4) dfFae 3R siiewe & Faad

Options:

531727291
553172730 2
553172731 2
SS21727322 4

Question Number : 184 Question Id : 553172184 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Cell envelope of bacterial cell is made up of

(1) Outermost glycocalyx, cell wall, Plasma
membrane

(2) Outermost glycocalyx, cell wall, tonoplast
(3) Outermost cell wall, plasma membrane,
tonoplast

(4) Outermost cell wall, glycocalyx, tonoplast

Options:

5531727331
553172734 2
52172735 2
2172736 4

Question Number : 184 Question Id : 553172184 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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(1) STEIds ToASahleh ol d, IR (AT, TATSHT

IE GG
(2) SEIGdH TASHIhToIFd, IR TR, SIATCATES
(3) SEgaH HIAHT AR, careAT Biel!, clacae

(4) <STEgdH HITAFT TR, TASHIh olFd, TlACART

5531727321
SS3172734. 2
553172735 3
553172736 4

Question Number : 185 Question Id : 553172185 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Net primary productivity can be defined as

(1) Rate of production of organic matter by
consumers

(2) Rate of fermentation of new organic matter by
consumers

(3) Rate of utilization of biomass by decomposers
(4) The biomass available for consumption by
heterotrophs

Options:

5531727371
553172738 2
5521727329 2
oo52172740 4

Question Number : 185 Question Id : 553172185 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




AT ITATAF Scareehdl I fhad TR AT ST FehdT &7

(1)  3UHIFATAT SaRT ATde IeTd & 3cd1Ge hl &3
(2)  3UHIFATHT SART AT FHIdTIh TSTdT & fHuae Hr

(3)  HUHUEHI GaRT ATHR & 3TN I &
(4) RO garT @I & [T 3gaey TR

Options:

531727371
553172738 2
553172739 2
552172740 4

Question Number : 186 Question Id : 553172186 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
In a DNA sample, Guanine constitutes 20% of bases. What

percentage of bases would be Adenine?

(1) 10%
(2) 20%
(3) 30%
4) 40%

Options:

5531727411
553172742 2
552172742 2
o52172744 4

Question Number : 186 Question Id : 553172186 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




SITAT & Ueh o1dal H, &TRI # I[3T{AeT FT 3raad 20% & | Tsfolet
& &TRI T Taerd fahdter gram?

(1) 10%
(2) 20%
(3) 30%
(4) 40%

Options:

5531727411
553172742 2
552172742 2
52172744 4

Question Number : 187 Question Id : 553172187 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

“A 4000bp long plasmid gives a single bond of the 4000bp
upon digestion with ECO RI. After introduction of a point
mutation, digestion of the same ECO RI, gives a single
band at 2000bp on the agarose gel electrophoresis.”

Which one of the following options provides best explanation
to the above observation?

(1) The mutation leads to deletion of 2000bp from
the plasmid.

(2) The mutation introduces another ECORI site in
the plasmid.

(3) The mutation make DNA more fragile and it
breaks into two pieces during purification.

(4) The mutation makes DNA replication deficient

and only 200bp of DBA can be copied every time.

Options:
5531727461
553172746 2

SS3172747. 3




S53172748 4

Question Number : 187 Question Id : 553172187 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

“Teh 4000bp €T TATEAS ECO RI & 1Y 9Tl 9 4000bp AT
Ueh Tehel §les ol ¢ | Teh Tog Scaiacdsl & a2l & a1g, g
ST T3S, ITael & §1¢ WITRIST oTel SolFe I hRIad 9¢

2000bp W TFH T dsargl "

fFafaT@a # & #id a1 [Aeeq 3ued 3ddied & [T gad
3T TISCIHIOT Y Tel il g7

(1) 3caRads careAs ¥ 2000bp T A g
(2) IcaR@dd TaTieHAs & U 3R ECORI Tl &r
STl ST g |

(3)  3cuRaclet SITAT &Y 3HTeF ATeTeh F=TdT © 3R
E TV & SRTeT Ig &l Thsl H ¢C ST ¢ |

(4)  3caR@del ST Yiashid A FHHT o1l § AR &
g had 200bp BET Fr gfafalt §118 T Thail & |

SS317:2745 1
5532172746 2
SS3172747. 3
S53172748 4

Question Number : 188 Question Id : 553172188 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




Bovine Spongiform Encephalopathy (BSE) is caused by

(1) Mycobionts
(2) Virus

(3) Viroid

(4) Prions

Options:

521727491
EE2172750. 2
oc53172751. o
53172752 4

Question Number : 188 Question Id : 553172188 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

SIaTSe TiTeoThid TerathaiddY (fvas) fas HRoTEar
X

(1)  haehrer
(2) ﬁ*srrul

(3) arISs
(4) e

5532172749 1
SS3172750 2
S53172751. =5
SS317275E 4

Question Number : 189 Question Id : 553172189 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Girdling the trunk of a tree resulted in the death of the
tree after a few weeks. Which of the following reasons is
most suitable to explain this?

(1) The water flow from the soil was blocked.
(2) Embolism occurred in the wood.

(3) Infection occurred at the injury point.

(4) Phloem transport to the root was blocked.

Options:

531727531
553172754 2
553172755 2
SS2172756. 4

Question Number : 189 Question Id : 553172189 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Tsh U3 & del W IRT AR BT (To1d) Fel  FS g%l o 916
U3 T A &1 7Te | AFATATET 7 @ et AT HROTSA
A & [T qad 3qGFc g7

(1) T3Er & 91eit 1 vaTg 37a%ey gf I1ar AT
(2)  oIhsI H Hed:AcTdl §‘é’ |

(3)  ToT & FRUTHC TUTA T HhHAUT g3
(4) I3 de FAIUH IRAg AT &l 17|

553172753 1
SS3172754. 2
553172755 3
SS3172756. 4

Question Number : 190 Question Id : 553172190 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




Which of the following statements with respect to
acclimatization at higher altitudes is incorrect?

(1) Increased Red Blood Cell production

(2) Increased binding affinity of haemoglobin
for Oz

(3) decreased binding affinity of haemoglobin
for O2

(4) Increased breathing rate

Options:

521727571
2172758 2
53172759 5
53172760 4

Question Number : 190 Question Id : 553172190 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

fArfaf@d & @ Sl a1 Fye s Fagar W) g
o aY H ITd ¢/

(1) ool & HITAHT HT UG el
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[
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FAT
(4) THAHIIH G

Options:

531727571
553172758 2
553172759 2
SS2172760. 4

Question Number : 191 Question Id : 553172191 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




Which of the following was NOT present in the
experimental flask of Stanley Miller?

(1) Methane
(2) Ammonia
(3) Amino acids
(4) Nucleotides

Options:

5531727611
SL21727E2 2
2172762 2
So3172764 4

Question Number : 191 Question Id : 553172191 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

fFafaf@a & & #ia ar e el o & gaiecas
FolTEh H HAIS[G 8l AT?

(1) &H9=
(2) AT
(3)  3THEAT 3Fo

(4) gfFeerss
Options:

5531727611
SS317EVEE. 2
SS3172763. 3
SS3172764 4

Question Number : 192 Question Id : 553172192 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




Match the following columns

Category Shape
(i) Coccus (a) Spiral
(ii) Spirillum (b) Spherical
(i) Vibrium (c) Rod Shape
(iv) Bacillus (d) Comma

Select the correct option from the following

(1) I—a; ii— b; lii—d; iv—cC
(2) I—b; il— a ; lii—c; iv—d
(3) I—b ; ii—a ; lii—d ; iv—cC
(4) I—cC ; Ii—b ; lii—d ; iv—a

Options:

oo3172765. 1

S53172766 2

SS317276Y. 3
SS31727688. 4

Question Number : 192 Question Id : 553172192 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




fArafaf@a st 1 fAare
Sofr HTHR
(i) Srre (a) A
(i) TEaiera (b) IMTHR
(ifi) aTgTaraH (c) SEeAT
(iv) df e (d) praT

faTafaa & 3 T8 Aecu FTIIT FY

(1) i—=a 0= b ili—d; v—=¢
(2) i—b; ii— a;ili—c; iv—d
(3) i—b:ii—a:iii—d;iv—c

(4) i—c : ii—b : iii—d : iv—a
Options:
553172765 1
SEZ2172766. 2
SS3172767. 3
S5317276E. 4

Question Number : 193 Question Id : 553172193 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




Consider a hypothetical population of 290 individuals on
an Island. If the number of individuals for a particular
gene is 100 AA, 150Aa and 40aa. Then what is the

frequency of occurrence of allele of that gene?

(1)  A=06 a=04
(2) A=06 a=06
3) A=04 a=06
4) A=04 a=04

Options:
Soolr2ies 1

SS31727 02
SS3172771. 3
SS3172772 4

Question Number : 193 Question Id ;: 553172193 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Teh gdId W 290 TS T FHlcUfeleh AT W AR FI|
gfe fordl faiw Siie & Torw cafSeat & d&ar 100 AA,
150Aa R 40aa &| I 39 SiieT & Tellel & 1ol T AT

T E?

(1) A=0.6 a=0.4
(2) A=0.6 a=0.6
(3) A=04 a=0.6
(4) A=0.4 a=0.4

Options:

5531727691
SE3172770 2
S52172771. 2
So3l172772 4

Question Number : 194 Question Id : 553172194 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




The nitrogenase enzyme which fixes atmospheric
nitrogen to ammonia is an oxygen sensitive
metalloprotein. Which one of the following metal-pairs is
essential for nitrogenase activity?

(1} Zn- Fe
(2) Mo-Cu
(3) Cu-Zn
(4) Mo-Fe

Options:

g A |
So3172774 2
53172775 o
53172776 4

Question Number : 194 Question Id ;: 553172194 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

aIHST ASgIolel i AT F EUREFIOT T are
ATl Tealled Teh JTrdilstel HAd! H1d WK &
fAefai@d 7 @ arg 9 F Fla-a1 JTA ARl ioleist
framfierar & T 3maeas g2

(1) Zn- Fe
(2)  Mo-Cu
(3) Cu-Zn
(4) Mo-Fe

Options:

5531727731
SL2172774 2
EL2172775 2
So3172776 4

Question Number : 195 Question Id : 553172195 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




Which among the following were the first terrestrial plants
to possess xylem and phloem?

(1) Mosses

(2) Liverworts

(3) Pteridophytes
(4) Gymnosperms

Options:

531727771
553172778 2
553172773 3
SE521727E0 4

Question Number : 195 Question Id : 553172195 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

fefaf@a 7 & Fla-9 08 997 T g Uy & SeaH
Ssold AR Follge &Iar 872

(1) &g
(2) foratac

(3) <RSwEcH
(4)  3Fgddrsr

SS3172777 1
SSS17277E 2
55321727733
553172780 4

Question Number : 196 Question Id : 553172196 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




Which of the following represents the ancestors of
mammals?

(1) Sauropsids
(2) Thecodonts
(3) Synapsids

(4) Therapsids

Options:
S5olr27EL 1

SS3172VBE 2
SS3172782 3
553172784 4

Question Number : 196 Question Id : 553172196 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

fArafaf@a # @ @la Taauial & qasr & @sla
AT 872

(1) IRasT
(2) A+
(3) HIAYHSH
(4) IqUdsy

Options:
S5olr27EL 1

SS3172VBE 2
SS3172782 3
553172784 4

Question Number : 197 Question Id : 553172197 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Which of the following is NOT a parasite?

(1) Human Liver fluke
(2) Female Anopheles mosquito
(3) Plasmodium vivax

(4) Cuscuta

Options:

55317278561
553172786 2
553172787 o
SE521727EE 4

Question Number : 197 Question Id : 553172197 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

FiTeliEd # ¥ sisT YXSiTdl 18l 672

(1)  #ATAqT IHd Fel

(2)  HATET TAIThellel AToX
(3)  CEToAHIEIH fGdFT
(4) AW

553172785 1
SS3172786. 2
SSS1727EY. S
553172788 4

Question Number : 198 Question Id : 553172198 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




Which one among the following was probably a fish like
Reptile found during evolutionary history of Land
Reptiles?

(1) Pelycosaurus
(2) Ichthyosaurus
(3) Tyrannosaurus

(4) Therapsid

Options:

5531727891
52172790 2
52172791 2
So3172792 4

Question Number : 198 Question Id : 553172198 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

H-T0g & faspraarT sfaer & SRie 9Te ST arel Tgq
=T OE HHA: Ueh ASoll ToidaAio i H & ahieT 2AT?

(1) Yol aERy

(2) SEYIRERT
(3) EEEERy

(4) MTHz

5532172789 1
SS3172790 2
S53172731. =5
SS3172732 4

Question Number : 199 Question Id : 553172199 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




Which one of the following photoreceptors cells in retina
are more sensitive to light?

(1) Rods, they are more at fovea centralis.
(2) Rods, they provide scotopic vision.

(3) Cones, they are more at fovea centralis.
(4) Cones, they provide photo topic vision.

Options:

5531727921
552172794 2
52172795 2
So3172796 4

Question Number : 199 Question Id : 553172199 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Iear & Aeafai@a & & Sia dY SH1Enar SHIfARTT gearer
o 9Tl 318 agaeioT ldr & 7

(1) ©3, A Fg afder Hr aTw 31 g
(2) ©s, A THICIUS 10 FeTd Pal 6 |
(3) 2T, A e IMfciehT T R HTF B
(4) AP, A YTRI ATATH TS YeTel i & |

Options:

5531727921
552172794 2
oo2172795 5
53172796 4

Question Number : 200 Question Id : 553172200 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




Two polypeptides of human insulin are linked together by

(1) Phosphodiester Bonds
(2) Di sulphide Bridges
(3) Hydrogen bonds

(4) N — glycosidic bonds

Options:

5531727971
oo3172798 2
S53172799 o
553172800 4

Question Number : 200 Question Id ;: 553172200 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

HIoAd ggfolel & al Ylelluceigs fehfeh SarT Ueh 1Y 53 8l
g?

(1) PRUEEWT de Y
(2) 315 HeWISs A

(3) g3 Y

(4) UeA - ToSHITATSH F&

SS317279r. 1
SS31727398. 2
SS317273%9. 3
553172800 4
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Question Number : 201 Question Id : 553172201 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which of the following crops has the highest water
requirement for its cultivation?

1) Rice

2) Red gram
3) Pearl millet
4) Sugarcane

Options:

52172801, 1
2172802 2
So523172802 o
553172804 4

Question Number : 201 Question Id : 553172201 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Arafat@a 7 O 9 vad fr @) & e gaTfas grer Hr
HTaThATaIdl 672
(1) It

(2) 3EX
(3) AT
(4) T

Options:

553172801, 1
553172802 2
5531728032 o
52172804 4

Question Number : 202 Question Id : 553172202 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Seed is botanically defined as

(1) Matured ovary

(2) Matured ovule

(3) Matured endosperm
(4) Matured embryo

Options:
553172805 1
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S53172806. 2
553172807 3
553172808 4

Question Number : 202 Question Id : 553172202 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Tol &l Tohd AT ®9 & IRATNT har AT 872
(1) IRYed 37ST2™T
AR ECEEEISIE
(3) 9Ruera USIETs
(4) aRgera 8ot

Options:

53172805, 1
53172806 2
553172807 2
553172808 4

Question Number : 203 Question Id : 553172203 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The maijor fertilizer used as a source of nitrogen in India is-

(1) Potassium nitrate

(2) Urea

(3) Gypsum

(4) Single super phosphate

Options:

553172809 1
S52172810 2
52172811 =
So3172812 4

Question Number : 203 Question Id : 553172203 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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AR H ATSCIST & Hld & &9 H G THE 3 -
(1) IhRIFHA a5
(2) g
(3) oea#H
(4) TETer g BrEhe

Options:

553172809 1
553172810 2
552172811 2
2172812 4

Question Number : 204 Question Id : 553172204 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Black soil in central India is suitable for the cultivation of

(1) Potato

(2) Ground nut

(3) Cotton

(4) Ginger
Options:
SE3172812. 1
53172814 2
553172815 2
553172816 4

Question Number : 204 Question Id : 553172204 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

FEG HRA =l el TACCET 8 I Wil & T 3ugerd 872
(1) 3re]
(2) FETel
(3) ard
(4) 3T

Options:

5531728121
553172814 2
553172815 o
S52172816. 4
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Question Number : 205 Question Id ;: 553172205 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

IFS refers to

(1) Indian Farm Management
(2) Indian Field System

(3) Integrated Farming System
(4) Integrated Field Survey

Options:

5531728171
553172818 2
553172819 o
553172820 4

Question Number : 205 Question Id : 553172205 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

IFS Tohaeh! TEiad aXaT g
(1) Sf2aa w1 a4
(2) 33T Fres e
(3) sEes wIfdT s
(4) SEICS oS &9

Options:

S5olrzesly 1
Sco23172818 2
553172819 o
553172820 4

Question Number : 206 Question Id : 553172206 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Tetrazolium test is done for:

(1) Seed germination

(2) Seed vigour

(3) Seed viability

(4) Seed dormancy
Options:
531728211
553172822 2
553172823 o
52172824 4

Question Number : 206 Question Id : 553172206 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1 hipsyfexams




CeTaTags qieTor fohaeh fore fohar Srar &:
(1) SIS 37RO
(2) &I S
(3) &I SgAeTHAT
(4) SrsT ggeaaEdr

Options:

5531728211
SS2172822 2
oo2172822. 5
53172824 4

Question Number : 207 Question Id : 553172207 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Who is considered as the father of green revolution in
India?

(1) G. S. Khush

(2) M.S. Swaminathan
(3) B. P. Pal

(4) M. V. Rao

Options:

5531728251
oo31723826 2
S53172827. o
553172828 4

Question Number : 207 Question Id : 553172207 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T H gRd Hifd &7 TAdeh vl HATAT FATAT g2

Options:

5531728251
53172826 2
ELZ2172827. 2
oo21723828 4
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Question Number : 208 Question Id : 553172208 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

International Crop Research Institute for semi-Arid and
tropics is located at:

(1) New Delhi
(2) Bengaluru
(3) Coimbatore
(4) Hyderabad

Options:

5531728291
553172830 2
552172821 2
21728322 4

Question Number : 208 Question Id : 553172208 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

37ei-grsh 3R ISUTERTeatT & folT 3TARISEIT el e
HEIT gl U 72

(1) =% feelr

(2) SATeI®

(3) HIIFSI

(4) TG

Options:

531728291
553172820 2
553172831 2
553172832 4

Question Number : 209 Question Id : 553172209 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
G.J. Mendel belonged to:
(1) England
(2) Austria
(3) Australia
(4) Germany

Options:
S5olrz2ez33 1

SS3172834. 2
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553172835 =5
553172836 4

Question Number : 209 Question Id ;: 553172209 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

ST AT Fal & o
(1) g7cis
(2) 3nfEcar
(3) 3Jiector
(4) ST

Options:

55317283321
553172834 2
552172835 2
21728326 4

Question Number : 210 Question Id : 553172210 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Protein synthesis takes place in

(1) Ribosomes
(2) Chloroplast
(3) Mitochondria
(4) Nucleus

Options:

5531728371
553172838 2
5521728329 2
o52172340 4

Question Number : 210 Question Id : 553172210 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

ST TRUT gl gldT 872
(1) TEaEAA
(2) FRITHAREC
(3) HATSCIRIf-zAT
(4) TgiFeraH

Options:
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S53172837. 1
553172838 2
553172839 35
SS53172840 4

Question Number : 211 Question Id : 553172211 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Heterosis is

{1) Induction of mutation

(2) Appearance of spontaneous mutation
{3) Production of superior F1 than parents
(4) Mixture of two or more traits

Options:

oo3172841. 1
o53172842 2
553172843 o
553172844 4

Question Number : 211 Question Id : 553172211 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

BT AT 87
(1) ARG T JIo
(2) TE<T 3caRade Sl 39TeAT
(3) TO=T &I 3981 3dH F1 &l 3cUics
(4) ar a1 ar | 31Tk SI8Toll S AT

Options:

5531728411
S52172842 2
EL2172842 2
So2172844 4

Question Number : 212 Question Id : 553172212 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Which of the following crops has maximum tolerance to
salinity?

(1) Rice

(2) Wheat

(3) Sugar beet
(4) Mustard

Options:
ooolrZ2e4db 1 ——




S53172846. 2
553172847 3
553172848 4

Question Number : 212 Question Id : 553172212 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Aato@a & 9 9 B & oquTdT & 9id AT8hdH
AESOTAT Bl &2

(1) araer

(2) ¥

(3) Tehex
(4) |4

Options:

521728451
EE2172246 2
o52172347. 5
553172848 4

Question Number : 213 Question Id : 553172213 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The instrument used for the measurement of wind velocity
is:

(1
(2
(3
(4
Options:
553172849 1
553172850 2
553172851 2
52172852 4

Anemometer
Wind Vane
Psychrometer
Lactometer

[ e —

Question Number : 213 Question Id : 553172213 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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&l o ddT ehl AT oh ToIT STAATS [T SiTeT ATl 3YhI0T hial-
'\EIT?.’:

(1) TfaaAARC

(2) [As a1

(3) HIShIA
(4) FEIHET

Options:

5531728491
553172850 2
552172851 2
52172852 4

Question Number : 214 Question Id : 553172214 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Under optimum condition, the efficiency of applied
phosphatic fertilizers in India is

(1) 10-15%
(2) 15-20%
(3) 20-25%
(4) 25-30%
Options:
5531728521
553172854 2
553172855 2
S52172856. 4

Question Number : 214 Question Id : 553172214 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

39 T &, #HRA H YFerd BIEhICeh 3Tt i GaTdT

fhaar 87
(1) 10-15%
(2) 15-20%
(3) 20-25%
(4) 25-30%

Options:
531728521
553172854 2

553172855 3
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553172856 4

Question Number : 215 Question Id : 553172215 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Drip irrigation system was initiated in

(1) Australia

(2)USA

(3) India

(4) Israel
Options:
oo3172857. 1
553172858 2
553172859 o
553172860 4

Question Number : 215 Question Id : 553172215 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

fg =g gomelt & e3iTe el 4 gs A2
(1) Jirecferm
(2) guaU
(3) AR
(4) gaTSet

Options:

5531728571
553172858 2
552172859 2
2172260 4

Question Number : 216 Question Id : 553172216 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Alphonso is the popular variety of:

(1) Guava
(2) Apple
(3) Mango
(4) Grapes
Options:
5531728611
553172862 2
52172862 2
EEZ172864. 4

https://exams.




Question Number : 216 Question Id : 553172216 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

HohrE! fhaeh! ol fhed &
(1) JAAES
(2) A=
(3) 31H
(4) 3R

Options:
EEZ172861. 1

SS3172882. 2
SS3172862. 3
553172864 4

Question Number : 217 Question 1d : 553172217 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Protein present in milk is mainly

(1) Myosin
(2) Albumin
(3) Casein
(4) Keratin
Options:
521728651
EEZ172866. 2
So3172867. o
53172868 4

Question Number : 217 Question Id : 553172217 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

g 7 3uTeud N 7&T & 8 41§72
(1) ATRNTEA
(2) UosgfdeT
(3) el
(4) ATea

Options:
521728651
SSol72E6E. 2

SS31728687. 3
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553172868 4

Question Number : 218 Question Id : 553172218 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Which of the following is the high yielding breed of buffalo?

(1) Murrah
(2) Red sindhi
(3) Tharparkar
(4) Jersey

Options:

5531728691
553172870 2
553172871 2
SE2172872 4

Question Number : 218 Question Id : 553172218 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

fFrafafad & @ fg &1 Sia-37 7% 3T 3caeh 672

Options:

5531728691
53172870 2
S52172871. 2
oo3172872 4

Question Number : 219 Question Id : 553172219 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
ICAR-NDRI is located at:

(1) Hissar
(2) Kamal
(3) lzzat nagar
(4) Anand

Options:

5531728731
553172874 2
553172875 o
SS2172876. 4
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Question Number : 219 Question Id : 553172219 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
ICAR-NDRI &gl T&d §?
(1) fear
(2) AT
(3) oold a9}
(4) 3T
Options:
5531728731
553172874 2

SS31VZ2BEYE 3
SSE1VZEEYE 4

Question Number : 220 Question Id : 553172220 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Common disease of banana in India is

(1) Sigatoka

(2) Fusarium wilt
(3) Bunchy top
(4) Panama wilt

Options:

oo3l172877. 1
53172878 2
553172873 o
553172880 4

Question Number : 220 Question Id : 553172220 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A 3 ol &l GIAT 9T hieT AT E?
(1) TRemetenT

(4) YoATHT 3WECT
Options:
531728771
oo3172878 2
53172879 o
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553172880 4

Question Number : 221 Question Id : 553172221 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Which among the following is most suited fruit for jelly
making?
(1) Guava
(2) Mango
(3) Banana
(4) Citrus
Options:
553172881, 1
553172882 2
553172883 3
553172884 4

Question Number : 221 Question Id : 553172221 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

AT @ & & T T Bl STell I=Te & T FaH 39gFd
87

(1) 3HHAEG

(2) HTH

(3) ohel

(4) St aer

SS3172883 3
553172884 4

Question Number : 222 Question Id : 553172222 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which of the following fruits contains maximum vitamin A?

(1) Mango
(2) Bael

(3) Orange
(4) Banana

Options:
553172885 1
553172886 2
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SS3172887. 5
553172888 4

Question Number : 222 Question Id ;: 553172222 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

At wel # F fha# F¥aaA [derfds Taarg?
(1) 3AH
(2) ae
(3) T
(4) e

Options:

5531728856, 1
553172886 2
553172887 o
SS2172E888 4

Question Number : 223 Question 1d : 553172223 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

During egg laying of poultry, the light period should not be
less than

(1) 17 hours
(2) 15 hours
(3) 13 hours
(4) 10 hours

Options:

5531728849 1
S52172890 2
52172891 3
553172892 4

Question Number : 223 Question Id : 553172223 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

https://exams.




3T o 37 &A1 7T &, Wehr=r shl 3aTe fehcel & o w¥gt

Blail TMET?
(1) 17 &<
(2) 158
(3) 13 8¢
(4) 10 ©¢

Options:

553172889 1
553172890 2
553172891 =
52172892 4

Question Number : 224 Question 1d : 553172224 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The semen collected from bull can be preserved for

(1) 1 week

(2) 1 month

(3) 1 year

(4) More than 1 year

Options:
S5olrz2sgs 1

553172894 2
5531728395 5
5531728396 4

Question Number : 224 Question Id : 553172224 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

ST ¥ Th U 370 & T fohder @617 des Tfaia fRar o
TR 67

(1) Ush "R

(2) U Al

(3) TFH W

(4) T a¥ | 3O+

Options:
5531728921
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553172894 2
553172835 =5
553172896 4

Question Number : 225 Question 1d : 553172225 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Disease free plants in micro-propagation can be obtained
through:

(1) Meristem culture
(2) Anther culture
(3) Embryo culture
(4) Cell culture

Options:

5531728971
553172898 2
52172899 2
52172900 4

Question Number : 225 Question Id : 553172225 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

FEH Tatle H T Hdl 4T fovg ATETH & 9o fohT ST Fohct
67

(1) fsrsaras gad=

(2) GRTRTRILT ALl

(3) ¥urHate

(4) HIfAFT Fad=T

Options:

5531728971
553172898 2
5531728993 2
S521723900 4

Question Number : 226 Question Id : 553172226 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Which of the following fruit is known as “King of Fruits” ?
(1) Apple
(2) Guava
(3) Citrus
(4) Mango

Options:

https://exams.




55317290101
SS31723902 2
5531723502 3
553172304 4

Question Number : 226 Question Id : 553172226 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Fafai@a Bl & & 8 "Bl &7 AT FHET AT 872
(1) |«
(2) HARS
(3) aiteaer
(4) 31H

Options:

521729011
552172902 2
o5231723202 5
5531723204 4

Question Number : 227 Question Id : 553172227 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Rose is commercially propagated by:
(1
(2
(3
(4
Options:
553172905 1
53172908 2
SE3172907. 3
S53172908. 4

Air layering
Inarching

T Budding
Cleft grafting

Sl Sl S Sl N )

Question Number : 227 Question Id : 553172227 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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I[elTS ST SATTHTTASh & H Fatiel Hd (AT ST 872
(1) I TR Fh
(2) HT Fold I T
(3) hiciaT T

(4) faefora dag e

Options:

553172905 1
553172306 2
552172907 2
oo52172308 4

Question Number : 228 Question Id : 553172228 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Which one of the planting systems is followed in hilly areas?
(1) Diagonal system
(2) Triangular system

(3) Hexagonal system
{4) Contour system

Options:
Soolyz2a049 1

SS3172910. 2
553172911 =5
553172915 4

Question Number : 228 Question Id : 553172228 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

ggTar 8131 # hisT [T ATUT JOTell HIATAT ST 872
(1) f3=pof gorrelr
(2) FapIof=r quTrelr
(3) WCHIUIRT YouTell
(4) eI JUTTell

553172911 =5
553172912 4
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Question Number : 229 Question Id : 553172229 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Growing of vegetables in residential houses to meet the
household requirement is known as:

(1) Truck garden
(2) Kitchen garden
(3) Market garden
(4) Floating garden

Options:

5531729121
5531729314 2
552172915 =
52172916 4

Question Number : 229 Question Id : 553172229 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

qREN T HTaRIhAT T Gicl 8] BRI 7 AlesTaT 3T ST T
g 67
(1) AMh-Heail Folr=m

(2) TEE =T
(3) TSR Safr=T
(4) ToIrdY Sef=T

Options:

531729121
553172914 2
553172915 =
553172916 4

Question Number : 230 Question Id : 553172230 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Tomato belongs to the family

(1) Leguminosae
(2) Cruciferae

(3) Solanaceae
(4) Cucurbitaceae

Options:

5531729171
52172918 2
52172919 2
So531723220 4
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Question Number : 230 Question Id : 553172230 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

TATEY fohd el T &7
(1) g
(2) HAHA
(3) Greldr
(4) FHpTacar

e s |
Options:
531729171
553172918 2
5531729319 2
553172320 4

Question Number : 231 Question Id : 553172231 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Little leaf disease of brinjal is caused by:

(1
(2
(3
(4

Virus
Mycoplasma
Nematode
Bacteria

L i

Options:

5521729211
52172922 2
Sco3172922. 5
553172924 4

Question Number : 231 Question Id : 553172231 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

37T T BIET Ty T fohd HRUTEIAT 6
(1) fawror

N

(2) &ds Sid ged
(3) gAFpM@A
(4) Sfraroy

Options:
5531729211
553172322 2

SS3172323 3
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553172924 4

Question Number : 232 Question Id : 553172232 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Which one of the following group of fishes is most
commonly cultured in India?

(1) Cat fishes

(2) Carps

(3) Shrimps

(4) Ornamental
Options:
Coolr292t 1
S5o172926 2
SEo172927. 3
S5o172925 4

Question Number : 232 Question Id : 553172232 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

foioT 71 9 fore Tofg Fr ATl I ARG H gy 3710 qrer
ST 872

(1) Sefher

(2)

(3) Bl

(4) gaTaer

Options:

5531729251
S52172926 2
oo3172927. 3
53172928 4

Question Number : 233 Question Id : 553172233 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Which state in India has the highest aguaculture
production?

(1) Kerala

(2) Tamil Nadu

(3) West Bengal

(4) Andhra Pradesh

Options:
5531729291
5531729330 2
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553172931 =5
553172932 4

Question Number : 233 Question Id : 553172233 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

HRA H 58 T A STl HN 1 Fa1fti 3caree giar g ?
(1) e
(2) dFAcETS
(3) gfe=s Fammer
(4) AT YA

Options:

5531729291
552172920 2
52172921 2
553172922 4

Question Number : 234 Question Id : 553172234 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Which of the following organisms is best for organic matter
decomposition?

(1) Clostridium
(2) Trichoderma
(3) Rhizobium
(4) Frankia
Options:
EEZ172932. 1
o53172924 2
553172935 o
5531729336 4

Question Number : 234 Question Id : 553172234 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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fFafaf@a & @ 3ia a1 sha Fefas 9y & 39ged & fou
qad 3AaA g7

(1) FARCISTH

(2) gTSHISHAT

(3) TsSAIfaTH

(4) Teh3m

Options:
S5olr2935 1

553172934 2
553172935 =5
553172936 4

Question Number : 235 Question Id ;: 553172235 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The scientist who discovered Streptomycin was

(1) Alexander Fleming
(2) Selman Waksman
(3) Louis Pasteur

(4) Sydney Brenner

Options:

531729371
553172938 2
553172939 o
553172340 4

Question Number : 235 Question Id : 553172235 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

TR deilioteh o TECCTATS THe shT WISt T2
(1) TolFaist FaAfHT
(2) AAHA dAThd
(3) oI$H UIER
(4) T&seT s

Options:
5531729371
5531729338 2

553172939 2
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553172940 4

Question Number : 236 Question Id : 553172236 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Which one of the following is a major component of
“biogas™?

(1) n- Butane

(2) n- Propane

(3) Acetylene

(4) Methane

Options:

5531729411
553172942 2
5531723432 2
552172944 4

Question Number : 236 Question Id : 553172236 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

fAFATe@d & @ i A1 "SI T U YW b 67
(1) To- =g
(2) T - G0
(3) wiafealleT
(4) HIYT

Options:

5531729411
553172942 2
5531723432 2
552172944 4

Question Number : 237 Question Id : 553172237 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Which one of the following is NOT a breed of goat?

(1) Jamunapari
(2) Barbari

(3) Sirohi

(4) Nellore

Options:

553172945 1
553172946 2
553172347 o
552172948 4
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Question Number : 237 Question Id : 553172237 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

AT T H  PleTdl Sehil el oIEel Tel 67
(1) SHEATIRI
(2) IRERT
(3) RaRIEr
(4) FealR

Options:

52172945 1
52172946 2
o531729247. o
5531729248 4

Question Number : 238 Question Id : 553172238 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Ranikhet disease is common in

(1) Poultry
(2) Swine
(3) Cattle
(4) Sheep
Options:
553172949, 1
553172950, 2
553172951, 3
553172952 4

Question Number : 238 Question Id : 553172238 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TAWT AN v &7 3TH 872
(1) e
(2) I
(3) Jitaer
(4) #3

Options:
5531729491
553172350 2
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553172951 =5
553172952 4

Question Number : 239 Question Id ;: 553172239 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Black quarter disease in cattle is caused by
(1) Virus
(2) Fungi

(3) Bacteria
(4) Parasite

Options:

531729521
553172954 2
553172355 o
553172356 4

Question Number : 239 Question Id : 553172239 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

atarer 3 sae FaTET o7 R FROT 2T &7
(1) fawmoy
(2) Faw
(3) Sy
(4) gSirar

Options:

531729521
553172954 2
553172355 o
553172356 4

Question Number : 240 Question Id : 553172240 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The pH value of good quality silage ranges from:

1)3.7t04.2
2)421t04.9
3)551t06.0
4)6.0t06.5

— — — —

Options:

5531729571
553172358 2
552172959 2
52172960 4
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Question Number : 240 Question Id : 553172240 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

378 I[UTTT aTel ASelsl & G Ao fehelell gl 872
(1) 3.7-4.2

(2) 42-4.9
(3) 5.5-6.0
(4) 6.0-6.5
Options:

SS31723957. 1
553172958 2
553172959 3
553172560 4

Question Number : 241 Question 1d : 553172241 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Animal feed with 5.0% nitrogen and 60% digestibility will
have the DCP of

(1) 1.88%
(2) 3.00%
(3) 18.75%
(4) 30.00%

Options:

5531729611

553172962 2

553172363 o

552172964 4

Question Number : 241 Question Id : 553172241 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

5.0% ATSEISTeT AR 60% TTIeT &THAT aTel U] 3TER H fehcelr

DCP grr?
(1) 1.88%
(2) 3.00%
(3) 18.75%
(4) 30.00%

Options:

oo3172961. 1
53172962 2
553172363 o
5531729364 4
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Question Number : 242 Question Id : 553172242 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which among the following is NOT cereal?

(1) Wheat
(2) Rice
(3) Gram
(4) Maize
Options:
SoolrZ2aet 1
S5o172966. 2
SEo172967. 3
S5o172960. 4

Question Number : 242 Question Id : 553172242 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

AFafei@a & 9 =ia a1 ar=g JAg1 872
(1) 3

(2) araer
(3) der
(4) AT

Options:

53172965, 1
53172966 2
553172367 o
5531729368 4

Question Number : 243 Question 1d : 553172243 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Sericulture is the production system that involves

(1) Rearing honey bees

(2) Rearing of silk worms

(3) Rearing of worms for composting
(4) Rearing of fishes

Options:

5531729691
52172970 2
52172971 2
oo3172972 4

Question Number : 243 Question Id : 553172243 Question Type: MCQ Opt|on Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientati@r<-Mertical




Correct Marks: 4 WrongMarks: 1

T{lThoay 3caTes JUTTell # FATEIAT 672
(1) AYHF Irelst
(2) 32 FIT greret
(3) FFUIFC & YT TTeled
(4) HSeIl dreled

Options:
EEZ172969. 1

SS3172970. 2
5531729713
553172972 4

Question Number : 244 Question 1d : 553172244 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which of the following is known as “Golden Fiber™?

(1) Sunhemp
(2) Cotton
(3) Jute

(4) Linseed

Options:

S5olrz2ars 1
oo3172974 2
53172975 o
553172976 4

Question Number : 244 Question Id : 553172244 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T @d & 4 T8 "IMesd Bise” & 9 H ST SATdT 67
(1) T3
(2) =urd
(3) SIC
(4) 3rcrdT

Options:

5531729721
552172974 2
oo2172975 5
53172976 4
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Question Number : 245 Question Id : 553172245 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Soil structure can be improved with the addition of

(1) Chemical fertilizers
(2) Gypsum
(3) Lime

{4} Organic Manure
Options:
EE2172977. 1
CE23172978. 2
EE31729¥9. =2
53172980, 4

Question Number : 245 Question Id : 553172245 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T SToTehY AT I TXTT # GUR fehar ST HehT 872
(1) TERAF 383
(2) ScaH
(3) e
(4) AT @ie

Options:

oo3172977.1
53172978 2
5531729793 3
553172380 4

Question Number : 246 Question Id : 553172246 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Which of the following sugar is non-reducing?

(1) Sucrose
(2) Maltose
(3) Glucose
(4) Galactose

Options:

5531729811
553172982 2
55317293832 o
552172984 4

Question Number : 246 Question Id : 553172246 Question Type: MCQ Optlon Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientatienx.Mertical




Correct Marks: 4 WrongMarks: 1

Fata@d & & Sl AT T TagehRT §7?
(1) gerst
(2) Aot
(3) Torhlst
OEIGEE]

Options:

5531729811
553172382 2
553172382 2
52172984 4

Question Number : 247 Question Id : 553172247 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Which of the following characteristics feature is absent in
animal cell?

(1) Mitochondria
(2) Peroxisome
(3) Nucleus

(4) Chloroplast

Options:

5531729851
oo2172986 2
53172987 o
553172988 4

Question Number : 247 Question Id ;: 553172247 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

PRI R 3 & et 6T RIS craToT wey IR o

b N
(4) FolRTCelT¥FC
Options:
553172985 1
5531729386 2
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SS3172987. 5
553172988 4

Question Number : 248 Question Id ;: 553172248 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The most effective weed control measure is

(1) Mechanical

(2) Chemical

(3) Cultural

(4) Integrated weed management

Options:

521729849 1
552172990 2
oc523172991. o
553172992 4

Question Number : 248 Question Id : 553172248 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

O THTA! WITAAR [HI90T 3U9R i ar g?
(1) TE+
(2) IEATAS
(3) H¥oT
(4) FATHT WIAAR JatT

Options:

553172989 1
5531729390 2
552172991 =
552172992 4

Question Number : 249 Question Id : 553172249 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The predominant source of irrigation in India is:

(1) Canals
(2) Tanks
(3) Wells and tube wells
(4) Rivers

Options:

S5olrz299s 1
523172994 2
553172995 o
553172996 4
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Question Number : 249 Question Id : 553172249 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

AT A FHTS T Yo Hd 1 87
(1) &Y
(2) arens
(3) P 3R el

(4) =T

Options:

5531729921
553172994 2
552172995 =
52172996 4

Question Number : 250 Question Id : 553172250 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The suitable herbicide for direct seeded rice is

(1)24-D

(2) Butachlor
(3) Pretilachlor
(4) Bispyribac

Options:
531729971
553172998 2
553172999 2
5531721000, 4

Question Number : 250 Question Id : 553172250 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

SISiTS & ATl 33TMe g 3Terl ATHaTTRIT et AT 572
(1) 2,4-D
(2) SFCTFAR
(3) AfeaTFAIR
(4) ToEarsRds

Options:
EEZ31729597. 1

SS3172998. 2
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5531729959 =5
5531721000, 4
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